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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367397
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983676417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g a0f WIg O S A A0 wEg @ SE e W waod ¥, P avw ¥ g @t Wy veer a0 wHg @
TafoT ¥

LAUGH : HYSCD : : COURSE : ?
Options:

1. = YNSNOC

2 % ZMSNOC

3. % YMSNOA

4. v YMSNOC

Question Number : 1 Question Id : 9983676417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

LAUGH : HYSCD : : COURSE : ?
Options:

1. * YNSNOC



7 % ZMSNOC

3 % YMSNOA

A v YMSNOC

Question Number : 2 Question Id : 9983676418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the number which is related to third number in the same way as the second number is related to first number.

3212:36::1836:7
Options:

1. = 218

7« 220

3 % 222

A = 224

Question Number : 2 Question Id : 9983676418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

97 FEA g S JrEl TEw § 36 S ¥ FerOd 8, 5w o ¥ gEl §eUr Uge §Em § wetdd g

3212 1 36 ;1836 - 7
Options:

1. = 218

2. v 220



3. % 222

4. = 224

Question Number : 3 Question Id : 9983676419 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. = 224:65

? % 115: 50

]« 116: 66

Question Number : 3 Question Id : 9983676419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v ov IR dEmr oAl # ¥ A9 v 3lS @ 5 ¢, Sl 39 ¥ vw e g1 sh § fawa T4
Options:

1. = 224 :65

2 % 115: 50

3. w 225 : 82



4. v 116 : 66

Question Number : 4 Question Id : 9983676420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

N[<D
A&7
R|©

Options:
9
2. v @
&
e

Question Number : 4 Question Id : 9983676420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5T dfodes HFAA H ¥ 98 HFiT I3 S S HHia HTGg T T HLal 872

NEE
d[¢|&
NEE

Options:

M Q) & ©

Question Number : 5 Question Id : 9983676421 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:

1. = ANGELIC : JQDBFLO



? @ BENZENE : QHIVHQH

3. % CRUCIAL : XUFZODL

/4. » DECENCY : FHGBBFQ

Question Number : 5 Question Id : 9983676421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffr o 9w oeg T 7 & A9 T qlF ¥ 7AF g, 90 398 @ TF W9 g1 A ¥ A T

Options:

1. = ANGELIC : JQDBFLO

2« BENZENE : QHJVHQH

3. = CRUCIAL : XUFZODL

4. = DECENCY : FHGBBFQ

Question Number : 6 Question Id : 9983676422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures have.

Problem Figures

Options:



4 v

Question Number : 6 Question Id : 9983676422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 AFfous HFiaal # ¥ 98 Hpia g0 [0 FFETT aF 9o # &F 718 Hpiadl & FAE g

TR I

Options:



Question Number : 7 Question Id : 9983676423 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:

1. = Circulation : Blood

2  Digestion : Food

3. % Excretion : Urine



4. « Respiration : Lungs

Question Number : 7 Question Id : 9983676423 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fEw a0 9w weg IA # & A7 v aiF ¥ 7AA §, 90 398 F TF Hoe g1 A A T4

Options:

1. =« TOEIR @ @&d

2 % UEe ; HISEA

L
3. g SCHJd [ HH

4. v FTEA : BH

Question Number : 8 Question Id : 9983676424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The six faces of a dice are numbered 1 to 6. Two different positions of the same dice are shown below. Which number is

on the face opposite the face showing ‘6’7

Options:

1. = 1

I~

2. %

3.v 4



4 % 5

Question Number : 8 Question Id : 9983676424 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TF & = (TR) Fr o Rfees ufaen, B waw F 1 ¥ 6 g% 3fea B g, e Ra
g HEmr 6 R arer Bos & [3%E aTer Geleh 9T Sid O TEAT geh

-

B A RS 2
r '.\ e

Options:

1% 1
7 o= 2
3. v 4

Question Number : 9 Question Id : 9983676425 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following patterns of the dices can be formed when the sheet given below is folded?

1
3|65
4
2
6 4 2 3
5 |4 s |2 1|5 g |2




Options:
1. » Only1land3

? % Only3and4

3  Onlyl 3and4

4] % ©Only2 3and4

Question Number : 9 Question Id : 9983676425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sa & 715 o F Wios AT A1 7, 99 SR (YW) F YA A ¥ HiA W YA 9 Wbl @72

Options:

1. » a1 3T 3

2 x FHaa 3 3R 4

3 o A1, 3 3R 4



4w FEF2, 3 3R 4

Question Number : 10 Question Id : 9983676426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pratiksha leaves from her home for her college. She walks 48 m towards West. After that, she turns towards North and
walks 32 m. Then she turns right and walks 54 m. Then she goes 40 m toward the South and reaches her college. What

is the shortest distance between her home and the college?
Options:

1. % 15m

? % 20m

4 « 10m

Question Number : 10 Question Id : 9983676426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAET 9 WX F Fioret F o0 Fwedr g1 98 9" #r HX 48 m I9dr §1 385 9% 98 3eo” T AR
ASH 32 m Tor &1 T 3F 1 AW gEH 54 m T ¥ R =g af@or Fr HX 40 m weer ok
39 FHeeT qgT A §1 FHF W IR ot F e f 3eqTH g @

Options:
1. = 15 m
? % 20 m



4 « 10m

Question Number : 11 Question Id : 9983676427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the given matrix?

37
24
40

61
02

T

|| 4
th | &= [

Options:
1. = 116

? v 174

3. % 186

A % 156

Question Number : 11 Question Id : 9983676427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 1T 3megg F e ET (7) F T W FiA A qEIT 0

37 | 4 |2)|61

24 | 2 | 4|92

40 | 3 |9 ?
Options:

1. = 116



2. v 174

3. « 186

4. = 156

Question Number : 12 Question Id : 9983676428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five doctors A, B, C. D and E and five teachers P. Q. R. S and T reside in a colony. Their houses are located in two rows
of five houses facing each other. A’s house is at one of the four corners. Q’s house is between E and P. P’s house is not
facing teacher’s house. C’s house is between R and B’s houses. P’s house is to the immediate left of D’s house. E’s
house is at the corner and faces S’s house. R’s house is also at one of the corners. Which of the following statements is
not correct?

Options:

1. ® D’s house is between P’s and A’s houses.

? % Q’s house is facing T"s house.

3 % C’s house is diagonally located to A’s house.

/]« B’s house is between C’s and S’s houses.

Question Number : 12 Question Id : 9983676428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gt siFeT A, B, C, D 3R E 3t oiw fems P, Q, R, S 3R T T& sl # | &1 30 =X TF g\t
F WA & 9fFaat # a9 ge §, Oed vdw 9few # 9w W A #1 W IR Fa # F F S A g
QOF RNEANPFIT AT PAF R F F RN FAAT AT LI C MR R I B F & &
HI PF RDF WA IF TEITGT EFN T FAT R ATS F W & @ A7 81 R Fr o7 of

o e I W ) AT & @ w9 o Fua o a6 2

Options:



1 »« DHEF WP IRAF W& AT gl

2 4w QF T & W & TFA ¢l

3 % C&H ®WAF I ¥ RS 3 g &1

4 v BHEFWC IS & W& 9T g

Question Number : 13 Question Id : 9983676429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight persons P. Q, R, S, T, U. V and W are sitting around a circular table at equal distance from each other facing the

centre. Then S and T interchange their positions. Now, if V is sitting in South-west direction then which direction is T

facing?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. North
?  South
3. West

4l South-east

Question Number : 13 Question Id : 9983676429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e =@FT P, Q, R, S, T, U, V 3R W U lieT B4 & 3&-F1E et 1 FHAT T §U T g@ &
A G W A4S &1 BT S 3R T 319+ T A9 H s od ¢l 39, TR V ETEur-aRes Raw F da
T ar T & e gar w17




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 3caX

2 e

3. 9f¥=gH

4, ST

Question Number : 14 Question Id : 9983676430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the ODD one out:
Shirt, Kurta. Coat, Dhoti
Options:

1. % Shirt

? % Kurta

3 % Coat

4. « Dhoti

Question Number : 14 Question Id : 9983676430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S8 ¥ fawH 9ar F

I, Fel, FIT, Wi
Options:

1. = A€

Question Number : 15 Question Id : 9983676431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three different positions of the same dice are shown. Which symbol will be on the face opposite to the one having “**?

Options:

1. = A

2.« O

3.« O



4, % X

Question Number : 15 Question Id : 9983676431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF & SEH FT ST - e A T s g e T 1 v & TeE Ao o
ur RfEaa gdfs Tar +1

i, B /
4 X
LTy s “‘xtf
A e 0OO| X 0O
\1\ v’-’j-’" H“*-R - \‘“\»_L‘ r_f"f
Options:

1. « A

Question Number : 16 Question Id : 9983676432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Four statements are given, followed by three conclusions. The symbols used in them have meanings as follows:
P & Q means P is neither smaller than nor greater than Q.
P # Q means P is neither greater than nor equal to Q.
P @ Q means P is neither smaller than nor equal to Q.
P % Q means P is not greater than Q.
P $ Q means P is not smaller than Q.
Now read the following statements and decide which of the conclusions is/are true.
Statements :
C&D
AEM
C@T
T@A
Conclusions :
I. C@A
0. D@A
N.M&T

Options:
1. « Only conclusionI and IT is true.

2 % Only conclusion II and III is true.

3 % Only conclusion I and III is true.

4 = All conclusions L. IT and IIT are true.

Question Number : 16 Question Id : 9983676432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR FuF e 71w § 3R 3 9 A7 Tewd o R aw ) s 9ges g @ 3 eaeen

P&Qw 3N gFPaTar Q@ orerg 37 a7 21

P#HQ#ITTFPIT QA asr g 3k F =T &

P@R@QAFINITFPIAT QT oler ¢ 3l a7 swew B
P% Q@ 3T ¥ F P, Q& 521 78 ¥

PSQa#r 1 g & P, Q @ oler 725 21

g AT Fuar #F 98 3T 37 F1 F 5387 ¥ Fi7 avg @y 597 28
FYUA :

C&D

A# M

cerT

T@ A
sy

L C@A
I. D@ A
n. M&T

Options:

1 o Faa oy | sk 1w E

2w FHae Ay || HR I w7 g

3w Haer ARy | AR I T E

4.« §f ey o, 0 HER I FeT g

Question Number : 17 Question Id : 9983676433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the

given statements.

Statements :

All copies are books.
Some books are magazines.

All magazines are newspapers.
Conclusions :
I. Some magazines are copies.
II. Some magazines are books.
ITI. Some newspapers are magazines.
I'V. No magazine is copy.

Options:
1. % Only conclusion I and III follow.

? % Either conclusion I or IV follows.

3 % Conclusion II and either I or IV follows.

4.« Conclusion IT and III and either I or IV follows.

Question Number : 17 Question Id : 9983676433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



;ﬁﬁmﬁtwﬁ“aﬁ?thﬁwﬂﬁmmm&sﬂ%@m%a:mﬁﬁmma?rgvam
& T AT A9 a2 ¥ @ o B, 99 L & FiF g Teay afee v 9 Bu 7w g #& v
HeTEROT HIT B

Fafr wirar, a2l
Fo fhae, 9EFT
gsfr 9f¥=T, EeER F

forsd -
. T© a9, Fiear g
I T& afyem, e 2
. & 3@aR, 9T g
V. 7rE af¥eT, e 787

Options:

1 o e s | SR R R E

5 o & sy | o7 IV SEEeT S g

3 x AR IMA AV HTEOT F

A o TSRS AR A A A IV T R E

Question Number : 18 Question Id : 9983676434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of six persons is to be selected from among five lawyers K, L. M, N and O, and five judges. P. Q. R, Sand T,

such that there are at least three judges in the team and it meets the following criteria:

i. Qand T cannot go together.
ii. M and O must be together.
iii. K and M cannot be together.
iv. M and Q must be together.

v. P and K must be together.

Which of the following teams can be formed?

1. MPROQS
2. SRLQMO
3. KTSRLP
4. SKMRQO
Options:
1. % 12,and3

9 % l.2and4
3 % 3and4

4] « 2and3

Question Number : 18 Question Id : 9983676434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g @ K, L M, N 3R O, iR aa =t P, Q R, S 3R T & & $© 38 %R § ©g & &F T
e g R O # wE ¥ O a9 8 #HR &n Aeef@e A @ e an

i. Q 3R T v @y 741 & 5l
i. M 3R O T @y g TR
iii. K 3R M v @ 787 g Tod|
iv.M 3T Q T Ty @ =i
v. P 3k K ©= @y g =nfewl

SH ¥ FiT ¥ fFeT ¥ v 87 7 Tear 87
1. MPROQS
2. SRLQMO
3 KTSRLP

4. SKMRQO
Options:

1 =« 12 3x3

2 % 1,23k 4

3 % 3 3K 4

4, v 23R 3

Question Number : 19 Question Id : 9983676435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of ‘“Marketing Manager® are as follow.

The candidate:

1. must have completed MBA with an specialization in Marketing and obtained more than 70% marks.
2. must have secured more than 75% marks in the skill test and more than 70% in the interview.

3. must have secured at least 80% marks in the Marketing paper of MBA examination.
However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2, but has got more than two years experience of working as a Marketing Executive, his/her case is to be
referred to the Assistant Marketing Manager.

b. no. 3. but has obtained more than 80% marks in MBA, his/her case is to be referred to the DGM (Marketing).

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Kushagra has completed MBA in Marketing with 81% marks. He has obtained 76% marks in Marketing paper during
MBA. He has obtained 76%0 marks in both skill test and interview.
Options:

1. % The candidate is to be selected.

? % The candidate is not to be selected.

73 » The candidate’s case is to be referred to the Assistant Marketing Manager.

4. » The candidate’s case is to be referred to DGM (Marketing).

Question Number : 19 Question Id : 9983676435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘YU 99U (AR Hael) & 9 & o7 3FEAEaRN T4 & T Aes FreEr g

IFHICAT:

1.f5uua # Bfdcear & @y tA.FT. @ IRv 3 70% ¥ #¥F 3dF g Tevl
2. lere ofieTor F 3% 75% ¥ HUE g IV HT FEEeRR H 70% ¥ 3O g TRvl
3.7 T, Fr oitem & BUvea F 99T H FH ¥ 7 80% e g Ifevl

grettter, TG 3FACAR 390 T AES I FT g, e

a. 7. 2, A Buue FEF F T H FH B F A T F FUF FOHIHT ¢, A SHR AHA
Tede [S9uia geerss &7 &= AT

b. #. 3, afhd TAHT. #F 80% ¥ 30w 3w T &, ar IHEr AFer H A (FUUE) #r oS
ST

for v A=EEt & amuw av Ak Gy off wfaftes seedr ot st fr fe e Re=fefas
3FHEET & T Saer o= g

FUAET 7 81% 3 F Wy B 7 vAde. g B §) 3w v ¥ e Ao F 9w 7 76%
37 Tifae BT g1 3ua #tee gieTor 3T SeeRER g # 76% wea e g

Options:
1 3FACIR AT ST TR

2 % 3FHIGAR T Al IoAT AT =TT

3w 3FAGAR F ATH F FEF G0 FauUF & 9H & feIr AreEm

4 3IFHICER & AH # SLALTA. (fuue) & amg a1 fear s



Question Number : 20 Question Id : 9983676436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The criteria for selecting a candidate for the post of ‘Kathak dance trainer’ are as follow.

The candidate:

1. must have completed Kathak course from a recognized institute.
2. must not be less than 25 years and not more than 35 years of age as on 1 January 2019.

3. must have at least two years” experience of working as Kathak dance trainer.
However, if a candidate fulfils all the above criteria EXCEPT:

a. mno. 2, but gets an approval from the selection board afier seeing the performance. his/her case is to be referred

to the Institute Director.

b. no. 3. but have won state level awards in Kathak performance, his’her case is to be referred to the Principal.

Based on the criteria given and without assuming any additional information, you have to a take a decision for the

following candidate.

Vaishali has completed Kathak course from a recognized institute. She was born on 29™ November 1993. She has

worked as Kathak dance trainer for two years.
Options:

1. «+ The candidate is to be selected.

7 % The candidate is not to be selected.

3 % The candidate’s case is to be referred to the Institute Director.

/. » The candidate’s case is to be referred to the Principal.

Question Number : 20 Question Id : 9983676436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FUF I TRTE F TG F v 3FHEER gee % v Awes e €
3FAIEEAR:
1. ATl 9o FEH F FUF FY FA1 g TRl

2.1 STl 2019 d 3WHr 357 25 WA F FA AT 35 T F 3% AT geAr Wil
3.%Y% T WIUETH & I H FIH HA & FH & FH &l ATal B Heged gl e’

grettter, TG 3FAEaR 390 T AES I FT ¢, e

a. 7. 2, WftheT IO Ao CART Vel qWe & AG HeHles & 77 &, O FHAT AHGT HEA
e 1S3 FTTEm)

b. 7. 3, ¥ Fuw FouT F T TEUT [WEFR ST §, O 3T AHAT FUAED F ST
ST

few s AEEr F oamur W R B o sfafed SeEd wok Be R s aesfafga
sriEaT & v Sger o= B

hm#wmmmﬁmmaﬁﬁmé‘:mmzsmwesaﬁrg}rrmam
FYUF T TINETH F dIX I & TTel d A T g

Options:

1 v 3FARER AT ST =T

5 3FHIGAR FT A AT A AT

3 x 3FAGAR & AFEA = @EyT s F arg &= fEar Freem)

A 3FHIGAR % ATHC! H AR & O S &IAT AT

Mental Ability?2

Group Number : 2

Group Id: 998367268
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 998367274

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367398
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9983676437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?




Question Number : 21 Question Id : 9983676437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S AR H & FiT T 3mpia & 75 smpfa F I gfafEe gendr 872

Question Number : 22 Question Id : 9983676438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

YH65DfG4weftvbm

Options:

1 . mdvitawhDidcoHY
> ., mdvitowhotdeoHY

. . mdAYswhDtAcoHY

. . mdvitomypidcoHy

Question Number : 22 Question Id : 9983676438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e arv wag 1 7 guor ST T, PR weg & AIfg AR TH FeAR gUUT W1 ST 2

YH65DfG4weftvbm

Options:

1 . mdvitawhDiddoHY
>, mdvitowhDiddoHY

5 . mdAYswhoidcoHY



. . mdvitampyoidcoHY

Question Number : 23 Question Id : 9983676439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

H@67%fg$67%3434#@ &S
HE@6T%fgS87%34S#@&S
H@6T%fgS87%54S#@&S

H@67%Tg$87%34S#@#4S
H@67%fg$87%34SH@&S

H@6T%fg$87%34#4@&S

o "My 0w e

H@6T7%1gS87&34SA@ &S
HAe@67%1Igi87%345#@ &S

Options:
1. = A CandE

9 o B.EandH

3 % C.FandH

4 % D.EandG

Question Number : 23 Question Id : 9983676439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A HTS TAF-HEA F g U a0 §, 397 @ A ve §A g1 Roge aAE dF weg 99t

A#@67%Ffg$67%34$#@ &S
BH@67%fg$87%34$#@&S
CH@67%FfgS$87%5454#@ &S
DH@67 %fg$87 %34S#@H#S
E#4 @67 %fg$87%348#@8&S
FH@67 %fg$87 %344#@ &S
GH@67%fg$87&34S#@8&S

H2E @67 %fg%87 %34#@ &5

T_ﬂon: A C3RE
2 4 B, E 3R H
3. % C, F3RH
4. « D, E3HRG

Question Number : 24 Question Id : 9983676440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the given figures. when fitted into each other would form a hexagon? Select an appropriate combination from

the given options.

[T
N>

Options:



1. v ABCE
7 % ACDE
3. % BCEF

/. % BCDE

Question Number : 24 Question Id : 9983676440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H § fFE 33 & 99 & gt # fihe fhar =1ar 8, o ve s aen? few aw fasedr H ®
TR BN I

[T
N

Options:

1. v ABCE
2. =« ACDE
3. « BCEF
4. = BCDE

Question Number : 25 Question Id : 9983676441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the diagram given below. the circle stands for ‘Lawyers’, the triangle stands for ‘Males’, the rectangle stands for ‘Tea

lovers’, and the square stands for ‘Social servants’.

The numbers in different segments represent the number of persons.

55

68 |o]88 70 |53

\ 5167 a9 \

‘Which of following statement is NOT correct?

Options:
1. » The number of Male lawyers who are social servants but are not tea lovers is 13.

2. %

The number of Male persons who are tea lovers and social servants but are not lawyers is 38.

3.

The number of persons who are lawyers, tea lovers and social servants but are not males is 14.

4. % The number of Male lawyers who are social servants and tea lovers also is 88.

Question Number : 25 Question Id : 9983676441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v 71T s #, gea ‘THET F qAEr §, TR O F g §, Jaa =9 $EET # g § R
T HATS WIF B AT g HAI-HET TS H 4T IS HEAY Afadar ST HEAT Fr g

55

68 |o]88 70 |53
3

N B E4EDAN
32\

TAH ¥ T T FUF TeT AT €7

Options:




1. =
T &Y T H FE 13 &, N TAS AFF A &, o 3¢ 99 T AL 2

2. #®
T TEY cafFaar F FEa 38 &, 5w U § 3R 5% 9w 9We € afew ¥ g @ E

3. ¢
UH STFadl S HEdT 14 §, S T g, 919 THG Ad § AR WATS WA g, oAb [6§ gl gl

4 = UR IEY Fhlell H HEAT 88 §, S FAS WIF g AN 3eg A7 o qHG

Question Number : 26 Question Id : 9983676442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

Figure-X

Options:




4 =

Question Number : 26 Question Id : 9983676442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5IH ¥ 98 Hpia I Swehr ampia X v o

Impfa X

Options:




Question Number : 27 Question Id : 9983676443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following option figure will complete the pattern in the figure given below?

Question Number : 27 Question Id : 9983676443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR ¥ *iT ® JFia = T v angia Se & qu FEn?

Options:

1. =

Question Number : 28 Question Id : 9983676444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ritika is daughter of Sujata. Vishal is son of Manav. Pratham is paternal grandfather of Ujjawala. Ujjawala and Ritika
are sisters. Manav is married to Sujata. Vishal’s father is son of Krishna.

How is Pratham related to Krishna?
Options:

1. « Son



? « Husband

3 % Paternal Grandfather

/. % Father

Question Number : 28 Question Id : 9983676444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rferesr gemar @r 38 81 Rrene Awg 7 2§ TUF 35T F R gl Feeaan iR Nfowr ag g
H=AT T AT GAeT F ge §1 e & W o F 5 E

JUH FUT ¥ FF FIRF 2
Options:

1. = &

2. v U

3. % AL ]

4 = rar

Question Number : 29 Question Id : 9983676445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A + B means ‘A is son of B’

A — B means ‘A is husband of B’
A x B means ‘A is father of B’
A + B means ‘A is mother of B’
A % B means ‘A is brother of B’

IfZ% Q+M-R+H=C xD-E +K, then which of the following statement is NOT correct?
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. His paternal grandmother of K.

2 R is maternal grandmother of C.

3. ZissonofR.

4. Z is brother of C.

Question Number : 29 Question Id : 9983676445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+BHF ¥TFA BF I
A-BF H¥TZ A BaFmaad g
AxBa&E ¥T T A B Rary
A+Ba3Tg A BRr AT
A%BFRITEA BFTag &

I Z % Q+M-R+H+=CxD-E+ KEg & 588 ¥ Fid T U7 Hel el 27

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. H, K & ger=ir 8



2 R, C & A g

3. Z, R & a7 ¢

4 Z C & % 8

Question Number : 30 Question Id : 9983676446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A question is given, followed by four statements labelled I. I, III and I'V. each containing some information. Decide

which of the statements is/are sufficient/ necessary to answer the question.

Question :

How is M related to C?
Statements :

I. Mis father of K.
II. 7Jis daughter of L.
ITI. K is husband of L.
IV. C is the brother of J.

Options:
1. % Statement L II and III together are sufficient.

2 Statement II. III and I'V together are sufficient.
73 x Statement I IIT and IV together are sufficient.

4. » Allthe statements together are necessary.

Question Number : 30 Question Id : 9983676446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T w2 & A |, I, 1l H#R IV 9 F g5 9% FuS R ¢ §, 90w F o 7 $T AGw & 7%
T FI & 92 F 3cR &7 & T 95 ¥ ST @ FUT q@/FTH1 22

SRl
M, C ¥ & mesfaa g2

S
. M, K @r ®&ar g

I J, L& g &
. K, L& 9fF g
IV. C, J & &2 1

Options:

1w ¥ 1, 11 3R I veary g3 gl
2 wmEA I, Il 3R IV Twary T3 gl

3. = ®UA 1, 1l AT IV vHary 93T g

4. » T FUT THAY AT g

Question Number : 31 Question Id : 9983676447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If ‘CONCISE’ is coded as 91 in a code language, how would ‘IDEATISM’ be coded in the same code language?

Options:
1. = 130

7 % 131

3 v 132



A % 140

Question Number : 31 Question Id : 9983676447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofe ey FE AT F ‘CONCISE’ #r 91 1= faar a/ar 2, ar 38T T 991 7 ‘IDEALISM’ =r &7 &g

Brar sree?
Options:

1. = 130
2 % 131
3. v 132
4. = 140

Question Number : 32 Question Id : 9983676448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

46967 x 192 —-238+12=130
Options:
1. = 12 and 238, ¥ and +

9 % 192and 238, +and +

3 o 12and 192, +and -



4 = 12 and 192, +and +

Question Number : 32 Question Id : 9983676448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETEt AR REA ¥ 37 gEA F § FiA 7 IR 30 1l 3w F agem W i aw aftrde
THERIOT FF TET T g HLE?

469 + 67 x 192 - 238 + 12 = 130
Options:

1. » 12 3l 238, x 3k +

D x 192 3T 238, + AKX +

3. » 12 3R 192, + 3T -

4. « 123192, + 3k +

Question Number : 33 Question Id : 9983676449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 400 students participate in one of three games chess. long jump and high jump. Only 27% participate in all
three games. The number of students who participate in any two and only two games is 31% of the total students. The
number of students who participate in high jump alone is 77. What is the total number of students who participate in
chess alone or long jump alone?

Options:
1. = 81

7« 91



3 = 97

4 = 111

Question Number : 33 Question Id : 9983676449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FoT 400 ST AL, T F& AR T Fg A ol H AR A g1 Haer 27% & @ T T F;
o &1 el & T aw & WAl A AT o arel OISl 7§ $d |l # 31% gl had I %E A
ST oel JTel OTFT HT TEAT 77 g1 FI AT TN hadl &81 He F ST o JTel O H FEAT TaT L7

Options:

1. = 81
2. v 91
3. 0w 97
4 % 111

Question Number : 34 Question Id : 9983676450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Among five objects U, L, C, Jand K; U is three and a half times as heavy as K; L is four and a half times heavier than

C: C is twice heavier than J. Jis one and a half times heavier than U.

Which of the following the statements is NOT correct?
Options:

1. = Cis three times heavier than U.

2 Cis lighter than K.



3. % Jis 5.25 times heavier than K.

4. % L is heavier than U.

Question Number : 34 Question Id : 9983676450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FEgAt U, L C,JARK AR U KT A i @ oy &5 L, C ¥ W I [T a1 &;
C, J & SR &Y 81 J, U & 3T 7= &1 2

Y ¥ FIT T FUT TeT 7T 27

Options:

1 = C, U ¥ & & &l 2l

2 4 C, K& g gl

3 J K ¥ 525 76 &l &

4« L U

Question Number : 35 Question Id : 9983676451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four persons A, B, C and D have different amount of rupees with them. A says to B, ‘If I give you 8 rupees. I will have

four rupees more than C” B says to C, ‘If you give me 7 rupees. I will have equal amount of rupees as D’. C says to A,
‘If you give me 13 rupees, I will have 8 rupees less than B°. If B and C together have total 75 rupees, how many rupees
does D have?

Options:
1. v

Lh
LA



LAl
i
Ly
s

A4 = 60

Question Number : 35 Question Id : 9983676451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TN AFRA B CANDF TR A BRI IR T A BIFegar ¢, ‘R A TR 8 T &
G, a@ A W C ¥ IN T ST 1" B, C W Fgar g, ‘IR gH 7% 7 AT g @, a A T D
oo *o8 g SEN" C, A A FaT ¢, ‘PN gA A5 13 TA L &1, af A IH B ¥ 8 T FH gl
IfE B 3R C & & 918 Fo 75 T4 §, o D & 9 fhdsr w94 §?

Options:
1. v 55
> % 57
3 « 59
A = 60

Question Number : 36 Question Id : 9983676452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:

1. & Lavender

? % Orchids



3. % Daffodil

4. « Aroma

Question Number : 36 Question Id : 9983676452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv 9w el 7 @ AT v UG F A g, FIF v HerT g1 A ¥/ A g4

Options:

2w 3ifes
3 . SErfE
4. v AT

Question Number : 37 Question Id : 9983676453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

R [ [

1 2 3 4

Options:

1. % 1

2. % 2



Question Number : 37 Question Id : 9983676453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few =v =R ampfaal # & @9 TF 0% ¥ TAA §, S TH Aol ¢ SAH § v T

R [

1 2 3 4

Options:

Question Number : 38 Question Id : 9983676454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

17, 18, 18, 20, 2, 43
Options:
1. = 24

? % 32



3 % 36

4. v 40

Question Number : 38 Question Id : 9983676454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e g9 S g@er # geF RBeg (?) 1 wEr giawig s

17, 18, 18, 20, 7, 43

Options:

1. = 24
2 x 32
3 = 36
4, v 40

Question Number : 39 Question Id : 9983676455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

87,91, 102, 132.2
Options:
1. « 199

7 % 200



3. % 201

A = 202

Question Number : 39 Question Id : 9983676455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T¢ e g9 S g@er # geF RBeg (?) #r v wiawia s

87, 91, 102, 132,

Options:

1. ¢« 199
2 % 200
3. % 201
4. = 202

Question Number : 40 Question Id : 9983676456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

41, 78, 140, 236, 373.?
Options:

1. v

Lh
LA
o

L
LA
O

2. %



Question Number : 40 Question Id : 9983676456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢ e g9 S g@er # geF FBeg (?) 1 wEr giawig e

41, 78, 140, 236, 373,7

Options:
1. « 556
2 % 559
3 % 563
4. = 567

General Awarenessl1
Group Number : 3
Group Id: 998367269
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessl

Section Id : 998367275

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367399
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983676457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India’s first digital investigation centre was established in

Options:

1. = Kolkata

2. » Ahmedabad
3. * Pune

4. v Gurugram

Question Number : 41 Question Id : 9983676457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H T T YgaT TSToicel ST g H T ToRIT ™7 o1
|

Options:

1. % SRIoTehTdl

2. % 3&HACIEIG
3. % gor

e

4.&?@"@11?[



Question Number : 42 Question Id : 9983676458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the India State of Forest Report, 2017, which of the
following states has been the biggest loser in terms of area
under forest?

Options:

1. v Mizoram

2. » Arunachal Pradesh
3. » Assam

4. = Tripura

Question Number : 42 Question Id : 9983676458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR gel [eufa RO 2017 & 3ran, fefai@a # @ g
T T FATTSICd ﬂ?mﬁ?wgmé‘?

Options:

1. v TAIRH
2. = 3TSUTTIel Udel

3. = 3TH
4. = oI

Question Number : 43 Question Id : 9983676459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Red List Index (RLI), which ‘provides a clearer view of real
trends within different taxonomic groups, and for
biodiversity as a whole’, i1s not available for:

Options:

1. = Birds
2. » Corals

3. » Mammals
4, v Fishes



Question Number : 43 Question Id : 9983676459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T foree g9 (RLI) ot faffieer goffehr wagh # aredide
T AR OAT §T 7 Saafaadar & f&v vk Tuse 97 g
a’ﬂ?ﬁ- %-, 3? %Q' B IKED E-%:T %’|

Options:

1. = &Y

2. = HIT (FITe)
3. = TJIYUTRAT
4. v ASORT

Question Number : 44 Question Id : 9983676460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nalabana Bird Sanctuary is located in:

Options:

1. = West Bengal
2. v Orissa

3. = Assam

4. = Tripura

Question Number : 44 Question Id : 9983676460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TofemoT g&fT 379RuT 7 ua &

Options:

1. = GiR<H w9l
2. v 3ITEem
3. » 3EH
4. = oI

Question Number : 45 Question Id : 9983676461 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

The theme of World Autism Day 2019 was:

Options:

1. v Assistive Technologies, Active Participation.
2. = No Development Without Inclusion.

3. # Different Abilities Same Development.

4. = Empowering Women and Girls with Autism.

Question Number : 45 Question Id : 9983676461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feg Tauorar (3iifesd) fegw 2019 &1 B 2|

Options:

1. v TETTeh WigHIEreRT, afsha smafigrT
2. = GHTAL o ToelT hI5 TR el

3. » BT IeTae FATT TR
4.

x HITeoH & IEd ATGATHT AT SFTTolhIT T TRITFdhIoT

Question Number : 46 Question Id : 9983676462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following products, produced in the Marayocor
and Kanthalloor regions of Kerala, recently received
Geographical Indication tagging?

Options:

1. * Groundnuts
2. = Pickle

3. v Jaggery
4. = Dari

Question Number : 46 Question Id : 9983676462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafoad # & fhd 3curg o, S hdel & AU 3N SHodan
ga7 # 3curfed foRar &, &1 ar A #infores 3ucele
(SOTRehol STSeheleT) ¢dT uTed TohdT?

Options:
1. = HaThell
2. % AN
3. v 98

M

4.+ T

Question Number : 47 Question Id : 9983676463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following organizations confer prestigious
Carnot Prize in recognition of distinguished contributions to
energy policy through scholarship or practice?

Options:

1. v Kleinman Center for Energy Policy

2. = Centre for Renewable Energy Systems Technology
(CREST), Loughborough University

3. » UK Energy Research Centre
4. = Massachusetts Institute of Technology

Question Number : 47 Question Id : 9983676463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHEgicd AT UiFed @RI Fetr Aifad # fafese JerereT e &
FRUT TTFdTolEd H 8 FT 396 &l Uld™ad Sl EFRN
ECAGERE X2 IBCIE: I

Options:

1. v FoldHel el WY Teloil Tilelar




2. HeT BT Reguere Ueroll Ocey dFateliol (),
IR T It

3. * b Telall REAT HeX

4. » HATHEH TEICYE 3H SFelelioln

Question Number : 48 Question Id : 9983676464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tagore Award for Cultural Harmony 2016 was awarded to:

Options:

1. = Rajkumar Singhajit Singh.

2. v Ram Sutar Vanjl.
3. = Chhayanaut (a cultural organization of Bangladesh).
4. = INTACH

Question Number : 48 Question Id : 9983676464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIERTcTeh Tshell s ST TWERR 2016 T e ar
2T

Options:

1. = ToAR feeia e

2. v TH R doTol |

3. * BIAC (FFATGL T Ush HIEDceh HIG)

+

4. = se (INTACH)

Question Number : 49 Question Id : 9983676465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following emperors built the famous Jama
Masjid of Delhi?

Options:

1. = Aurangzeb



2. = Sher Shah Suri
3. v Shah Jahan
4. » Humayun

Question Number : 49 Question Id : 9983676465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeaaEad foiEad # & g e o el ol Uiag SITAT
AT &7 [@ATOT =T 277

Options:

1. = 3@
2. = AT Mg FIT
3. v QAT &l

Tl

4. = gAY

s

Question Number : 50 Question Id : 9983676466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following texts was NOT composed by
Ashvaghosha?

Options:

1. = Sariputra prakaran
2. » Saundarananda

3. = Buddhacharita

4. v Ashokavadana

Question Number : 50 Question Id : 9983676466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafa&a # & i AT Joo 379 carT Id aigr &7

Options:

1.werr‘ﬁrg-arw

2. = Glealaes




3. » gEuRad
4. v 3TeNhTdcld

Question Number : 51 Question Id : 9983676467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The greatest development in the Kushana period was in the
field of:

Options:

1. v Art

2. » Medical
3. = Religion
4. = Literature

Question Number : 51 Question Id : 9983676467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wwﬁmmﬁw %a%—arfrgam

Options:

1. v hell
2. = Tiferear
3. = oH
4, » @liged

Question Number : 52 Question Id : 9983676468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the temporary chairman of the Constituent
Assembly?

Options:

1. * N. G. Ranga

2. » Sardar Patel

3. # Justice S.K. Dar

4. v Sachchidanand Sinha




Question Number : 52 Question Id : 9983676468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTTTed THT T ITARIT HETET hlel AT?

Options:
1. = Taf SIT @M
2. = §ER 9ol

3. * AHT TH & &I
4. v "ieagres Heer

Question Number : 53 Question Id : 9983676469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of Chatbot of the Indian Raillway Catering
and Tourism Corporation Limited (IRCTC)?

Options:

1. v Ask Disha

2. » Ask Shiksha
3. » Ask Pragya

4. = Ask Gamini

Question Number : 53 Question Id : 9983676469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRATT Yeld HERT U WANSH FaRere feffds (IRCTC) &

Ucdlc T AT ATH &7

Options:

1. v 3TER Tem
2. % &R e

3. % 3¥Fh Tl

4. = TR IMTHAT

Question Number : 54 Question Id : 9983676470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following states does not have a Legislative
Council?

Options:

1. » Andhra Pradesh
2. » Karnataka

3. » Maharashtra

4. v Madhya Pradesh

Question Number : 54 Question Id : 9983676470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfefEa 7 ¥ foog U= & [urd aRye 81 &7

Options:

1. % 37T TaeT
2. % Shellceh

3. » HERTISC
4. v ACT el

Question Number : 55 Question Id : 9983676471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following state legislative assemblies in 2018
passed a resolution seeking creation of a Legislative Council?

Options:

1. = Telangana
2. » Haryana
3. v Orisha

4. = Sikkim

Question Number : 55 Question Id : 9983676471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafa@&a 7 8 TFT Tsg FT [TuraasT a8 2018 & U=
IR & ST B Tk WA IR FRaT?




Options:

1. = JoldIaT

2. = BIGTom
3. v 3ifger
4. = afFsa

Question Number : 56 Question Id : 9983676472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following articles of the Constitution grants
special status to the state of Jammu and Kashmir?

Options:

1. v Article 370
2. » Article 356
3. = Article 349
4. = Article 345

Question Number : 56 Question Id : 9983676472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Higrarer s foraileli@d & @ HleT AT 3eede, S Td AR
I FAY AT UeIed AT &7

Options:

1. &?3-1@1:,_933370
2. » 3eoE 356
3. » ST 349
4. » 3eIToE 345

Question Number : 57 Question Id : 9983676473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article enables the Union Government to impose
financial emergency.

Options:




1. = 352
2. % 354
3. = 358
4, v 360

Question Number : 57 Question Id : 9983676473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3eTesse , heg TIPN &I AT 3TUTdhRTel oaTal <hl
eTiFd WeTeT hadT &l

Options:

1. = 352
2. = 354
3. » 358
4. v 360

Question Number : 58 Question Id : 9983676474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following constitutional amendment mandated
the State to provide free and compulsory elementary
education to all children?

Options:

1. v 86th
2. » 87th
3. % 88th
4. = 89th

Question Number : 58 Question Id : 9983676474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



At & O i a1 gaurias gendd, TsAT HT AT ST
8d fereeh 3N feard e vere Fta & foiv fadfRia srear
&7

Options:

1. v 86aT
2. = 874T
3. = 88ar
4, = 89ar

Question Number : 59 Question Id : 9983676475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cricketers became the first to take 100
IPL catches?

Options:

1. = Virat Kohli

2. v Suresh Raina
3. = AB de Villiers
4. = Rohit Sharma

Question Number : 59 Question Id : 9983676475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faTa@d o@aa & & Sid @7 Tohere Earsr 100 IPL &=
o gTelT UgalT TEear Sar?

Options:

1. » fae FIger
2.¢§T@TjTrIT
3. = U o RRfead

4, = Qg erAT




Question Number : 60 Question Id : 9983676476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the rankings released by the United World Wrestling in
2019, the second place in men’s 65 kg freestyle category was
begged by:

Options:

1. ¥ Takuto Otoguro
2. » Selahattin Kilicsallayan
3. » Akhmed Chakaev

4. = Nachyn Kuular

Question Number : 60 Question Id : 9983676476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YAT5eS Tes IGTeldr g@rr 2019 7 ST ¥ A, q&st T 65
kg hrEeTSer A0l # TEIT FAT I UeTel fohdT =TI

Options:

1. v dTeRIdr 31’[2’!?@ (Takuto Otoguro)

2. % Hollgclel TehTolrdedal (Selahattin Kilicsallayan)
3. = 3GHAS Thd (Akhmed Chakaev)
4

. # ofTiael e (Nachyn Kuular)

General Awareness2

Group Number : 4
Group Id : 998367270
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awareness2

Section Id : 998367276

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367400
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983676477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arpinder Singh who won Gold medal in the Asian Games
2018 belongs to this sport:

Options:

1. = javelin throw

2. = shot put

3. v triple Jump

4. = quadruple sculls

Question Number : 61 Question Id : 9983676477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

URIATE dor 2018 H TGUT Uaeh Sildel drel 3NTUeY g
el & gatad g

Options:

1. = #TelT theh (Safeled oM
2. = Ml Heh (M Ye)
3. v feuer 5o

4, % Fdgdel Fehod

Question Number : 62 Question Id : 9983676478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements regarding Kalbelia dance
and folk songs is NOT correct?

Options:

1. = It is inscribed on the Representative List of the Intangible
Cultural Heritage of Humanity.

2. * These are an expression of the Kalbelia community’s
traditional way of life.

3. v The Kalbelia community is a traditional monkey-catcher
community.

4. = Khanjarl and pungl are two musical instruments used in
the performance of this dance and songs.

Question Number : 62 Question Id : 9983676478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHTS T Jcd 3R elishdild & favg # foeafaiad # & S
T U Tl el 87

Options:

1. » fAFaIlolREd & & hisT, ATTadr T AT AiEpicsh O
$r afafafar g & aftta &

2. » UE FKoTAAT THAT hT TRARF Sdaeiell HT TH
feegiad &l

3. v eI THEH, IRARNE § & Fed Thgal dlel THE
gl

4. » ForT 3T Gl v are I & S 39 e W AT &
veele H 3uer fpw S &

Question Number : 63 Question Id : 9983676479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maach is a traditional theatre form of the state of

Options:



1. v Madhya Pradesh
2. » Orisha

3. = Kerala

4. » Tamil Nadu

Question Number : 63 Question Id : 9983676479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ST &l Ueh IRUNR dACT 9 ¢

Options:

1. v HET geT
2. = 3Ifgew
3. = el

4, = dmolaﬂg

Question Number : 64 Question Id : 9983676480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous painting entitled ‘Three Girls’ was pained by

Options:

1. = Raja Ravi Verma

2. v Amrita Sher-Gil

3. » Abanindranath Tagore
4. » Radha Kumar

Question Number : 64 Question Id : 9983676480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'IT I ATHE g ufedr ZaRT Flg S|

Options:

1. % Ira1T AT AT
2.&?3-]?:.’LF|TQTT1?IT~F



3. % 3TTAIEATd &I
4. = TUT FAX

Question Number : 65 Question Id : 9983676481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the world’s largest desert?

Options:

1. v Sahara
2. » Namib
3. = Kalahari
4. = Sonoran

Question Number : 65 Question Id : 9983676481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Feg T go 8 F37 AFEUS i AT &7

Options:

1. v G8NT
2. = oATHIS
3. = RIGENT
4. = QAT

Question Number : 66 Question Id : 9983676482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following conditions is NOT must for the origin
of tropical cyclones?

Options:

1. = Large sea surface with temperature higher than 27° C

2. = Presence of the Coriolis force
3. » Small variations in the vertical wind speed
4. v A pre-existing strong high-pressure area



Question Number : 66 Question Id : 9983676482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3SUTR eI TshaTdl o 3c9ed ald & Tolv [arafei@ma # @
leT T Zom Taary 87 &7

Options:

1. * JBg AHIGH TTE T dT9AT 27° C & 37O gl
2. x I3 &of T 3uTeafa

3. » Feq Udel Olel H ATHell URacel

4. v Ugol ¥ 3UTEUT U 3Td-caId &7

Question Number : 67 Question Id : 9983676483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following seas are connected through the Strait
of Kerch?

Options:

1. = Black Sea and Aegean Sea

2. v Black Sea and Sea of Azov
3. = Black Sea and Caspian Sea
4, » Mediterranean Sea and Red Sea

Question Number : 67 Question Id : 9983676483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rrafafe & & 78 Ty, 74 T § off §7

1. % el PR 3T U« drPR
2. v FTell PR AT 3790F GFER

3. = hrell IR 3T HETTa gPR
4. = ALY RN 3 oo R

Question Number : 68 Question Id : 9983676484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following banks is fully owned by the
Government of India?

Options:

1. v India Post Payments Bank

2. = State Bank of India

3. = Industrial Development Bank of India
4. = Federal Bank of India

Question Number : 68 Question Id : 9983676484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[FafafEd # @ i 1 e, IR THR & o7 T1iAca H 87

1. v 3T diEe dHeH d

2. % ARAT ¥ sk

3. = RN MEAEr G o (Zeiegye Sgaude d 36
gfsam)

4.%‘3%1?[3%53-1%?%?[

Question Number : 69 Question Id : 9983676485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a fundamental right as per the
Constitution of India?

Options:

1. = Right to equality

2. » Right against exploitation
3. = Right to freedom of religion
4. v Right to property

Question Number : 69 Question Id : 9983676485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafal@d A @ &l A1, 9RT F FAUTT F 3HTHX Tk
HAifold TR AT 67

Options:

1. = HHATAAT T IR

2. = oNNUT & [a%g 3TIFRR

3. = YIfHh FITAAT T TARR
4. v F@Ylcd &1 HERR

Question Number : 70 Question Id : 9983676486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country launched the World’s first Sovereign Blue
bond in 20187

Options:

1. * New Zealand

2. v Seychelles
3. = France
4, = Austria

Question Number : 70 Question Id : 9983676486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Torer 2o o faed T 9UH HiedeT seg 15 2018 H o fRaT?

Options:

1. » sgairels
2. v Qe
3. = W

4. = 3ITEeT

Question Number : 71 Question Id : 9983676487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In human body, the enzyme named Pepsin is produced by:



Options:

1. = salivary gland
2. v gastric gland

3. # pancreas

4. = Intestinal gland

Question Number : 71 Question Id : 9983676487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl e A 9ftq«T UATSH ZANT 3cUeal fohaT
ST 87

Options:

1. = o T
2. v ST AT
3. % 3IITT
4, = 3T AT

Question Number : 72 Question Id : 9983676488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Haemoglobin is an important constituent of:

Options:

1. v Red blood cells

2. » White blood cells
3. = Plasma

4. = Platelets

Question Number : 72 Question Id : 9983676488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QEIECIEL] FT Teh HAgcea ol ToATOR &

Options:

1. v ofel T&Fd Foere (RBC)

2. » 2dd {&Fd FURIT (WBC)




3. % TOToHAT
4. = Toldolcd

e

Question Number : 73 Question Id : 9983676489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Human beings occupy the level in any food chain.

Options:

1. = hottom
2. % 2nd
3. = 3rd
4. v top

Question Number : 73 Question Id : 9983676489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Alela Tordl TTeT A&l H Ta< ARUT H{dTl &

Options:

1. = Terrer
2. » fegadT

S

3. » JA

c

4. v M¥

Question Number : 74 Question Id : 9983676490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In January 2018, purchased the Indian government’s
51.11% stake in Hindustan Petroleum Corporation (HPCL) for
Rs. 36,915 crore.

Options:

1. = IGL

2. v ONGC
3. = GAIL
4. = NTPC



Question Number : 74 Question Id : 9983676490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STeladT 2018 &, o Teerdre dgifead FraRere
(TTUETTe) H IR TRR HT 51.11% BEaeir §93 36,915

FUS H TIET|

Options:

1. = ST
2. v 3IUASIET
3. = el

4, = USALIIIET

Question Number : 75 Question Id : 9983676491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Remove Debris Mission which aims to de-risk and verify
technologies needed for future ADR (Active Debris Removal)
missions, is a research project of:

Options:

1. ¥+ European Union.

2. » NASA, United States of America.
3. « CNES, France.

4. = Roscosmos, Russia.

Question Number : 75 Question Id : 9983676491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Felel T TAee, ST HET vSIR (Videa sfaw Regen)
fHerAT & oI MTaeTeh dehailehl I SANEH Ied AT FATUT
Fa & v g, R 3fTHT TRASTET &

Options:

‘I.lejl'tﬁ'&l'i':l"ﬂ'




2. = ST, TYFT T AR

3. » HIUASUH, Wi
4. = QYTHTAT, &

Question Number : 76 Question Id : 9983676492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hippocamp is the name of the newly discovered moon of:

Options:

1. = Saturn
2. = Mars
3. v Neptune
4. = Venus

Question Number : 76 Question Id : 9983676492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

icT==8 & AT TS IT ASHT FT dATH &

Options:

1. = erfa
x FHITT

2.
3. v TeuT
4, % <Tsh

o

Question Number : 77 Question Id : 9983676493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Indian Institute of Technology (IIT), Banaras Hindu University
(BHU) recently developed a Supercomputer of 833 teraflop
capacity. The Supercomputer has been named as:

Options:

1. » Param II
2. v Param Shivay



3. = Param Shakti
4. » Param Yuva II

Question Number : 77 Question Id : 9983676493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNAR MeAEehr wemer (IIT), soiry f&q faeafaeamer (BHU)
o BTel 81 # 833 UFelT &THAT T Ueh WP+ [deh e
T &1 39 U hFYN i ATH Te=ar a=m &

Options:

1. = 93H I
2. v ITH Ma
3. * UIH olod

4, =« QWH Iar |l
M

Question Number : 78 Question Id : 9983676494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HYF g 1 Tk faferee oAl RIS gTEAOR /6 (ITU)
HT HEATTZ 7 ua &

Options:

1. v TSatar
2. = 3fleriar
3. = HileeTd

4. = TR

o,

Question Number : 78 Question Id : 9983676494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The International Telecommunication Union {(ITU), a
specialized agency of the United Nations, is headquartered at:

Options:

1. v Geneva



2. %« Ontario
3. x Montreal
4. = New York

Question Number : 79 Question Id : 9983676495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Eastern Zonal Bench of National Green Tribunal is
located at:

Options:

1. = Assam
2. v Kolkata
3. = Bhubaneshwar
4. = Ranchi

Question Number : 79 Question Id : 9983676495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sieTeel el feegetel ST YaT &H1F 1S H Fua gl

Options:

1. = 318H

2. ¢ hIelehTdl
3. % aiaﬁ%a'\r
4. « T

Question Number : 80 Question Id : 9983676496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of the following places, the Centre for Disability
Sports is proposed to be set up?

Options:

1. = Imphal
2. » Vadodara
3. v Gwalior



4. = Gandhinagar

Question Number : 80 Question Id : 9983676496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & O T 2T 9T [Serareran eél‘c»ic;:q she, TTOT
RaT AT TEaTRT &7

Options:

Arithmetic Abilityl
Group Number : 5
Group Id: 998367271
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 998367277
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1

Sub-Section 1d: 998367401



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983676497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To fill a tank, 27 buckets of water are required. How many buckets of water will be required to fill the same tank if the
capacity of the bucket is reduced to three-fourth of its present capacity?

Options:
1. «+ 36

? % 32

Question Number : 81 Question Id : 9983676497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & = U s F T 27 Sy 9 B aeTear @ #1 3fE sredt i aar i sEeh s9A
8THAT & dI-duTg 9% wHF & G AT ar $E TH I [ A & A Il FHr Graer afeear @
HTEITHAT g2

Options:
1. v 36
2 % 32
9 « 35
A = 33

Question Number : 82 Question Id : 9983676498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The price of 14 chairs is equal to that of 8 tables. The price of 21 chairs and 5 tables is ¥ 11,900. The total price of
12 chairs and 8 tables is:

Options:
1. % 10,200

2 % T11.400

3 » ¥10.400

4 x 12,400

Question Number : 82 Question Id : 9983676498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

14 FfEdh $ Pra 8 et H FAT F TR g1 21 FAA AR 5 Taat Hr HAT T 11,900 7
12 & 3k 8 Tuat Fr For HrAg M

Options:
1 % 10,200
2 % ¥11,400

3. o 10,400

4 % T12,400

Question Number : 83 Question Id : 9983676499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B aim for birds. A fires 7 shots to B's 5 but A kills only once in 3 shots while B kills once in 2 shots. When B
missed 30 times. A has killed:

Options:



1. = 26 birds

7« 28 birds

3. % 25 birds

A = 30 birds

Question Number : 83 Question Id : 9983676499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARBod i R AT T @ I B 5 T sia aF A, 7 ma eem oar g afed A F &
g fFemal # ¥ 9 v & e uef &+ AR 9rar 8, 987 B & g€ or Fuar # ¥ v uefr 9v oerar
gl 91 &< fo5 9 B ¥ 30 fure 9% % 29, 99 a% A  faraer aféwt @ Aw femr gem

Options:

1.« 26 Tafr
> o 28 T&fr
3 x 25 ush
A« 30 9sh

Question Number : 84 Question Id : 9983676500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

x

- 7

If 3x + 7y =255 and e —, then the value of (2x — 5y) is:
b % 3 )

Options:

1. = 45



%
®
Lad
LA

[
LA

4. v

Question Number : 84 Question Id : 9983676500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE 3x + 7y = 255 34‘1?";3’=§,a°r(2x—5y) at &7 AT FAT B

Options:

1. = 45
? = b2
3 = 35
4, v 25

Question Number : 85 Question Id : 9983676501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AfFeafda (23.68 x 23.68 + 23.68y + 1.04 X 1.04) Te oT 97 gefr afg y foafof@a =t &
Options:

1. v 208

2 % 1.08



3. % 2.04

4. » 3.08

Question Number : 85 Question Id : 9983676501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The expression (23.68 X 23.68 + 23.68y + 1.04 X 1.04) will be a perfect square if y is equal to:
Options:
1. «+ 2.08

7 % 1.08

3. % 2.04

A % 3.08

Question Number : 86 Question Id : 9983676502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If the difference between two positive numbers is 7 and their product is 23.75, find the smaller number.
Options:
1. = 3.5

2.« 25

3. % 05

4 = 45



Question Number : 86 Question Id : 9983676502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg a1 uaTcHs TEITHT 1 ey 7 § 3R 3o qute 23.75 §, aF 98 @ o g A7 Hifav

Options:

1. % 35
2 o 25
3. % 95
4. % 4.5

Question Number : 87 Question Id : 9983676503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 7.9x = 3.16y. then the value of

2y —3x |

15]
dy+ 2x

Options:
1. = 0.2510

7 % 0.3105

3.« 02105

A % 0.3510

Question Number : 87 Question Id : 9983676503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 7.9x = 3.16y ¢, ar

Options:

2y — 3 :
Y~ °* T A AT B
dy+ 2x



1. =« 0.2510

5 x 03105
3. v 02105
A % 03510

Question Number : 88 Question Id : 9983676504 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
2 2 2 2 2
Thevahicof —-F — b= :
35 63 99 143 195 -
Options:

1. v 15

4 % 1s

Question Number : 88 Question Id : 9983676504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
2 2 2 2 2 _
o e Moo e o !
35 63 99 143 195

Options:



Question Number : 89 Question Id : 9983676505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 3 :
The value a of a number exceeds z of that number by 75. What is the number?

Options:
1. = 286

7 % 268
3. % 186

A & 168

Question Number : 89 Question Id : 9983676505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmmmg mma:g T 75 ¥ ¥ 9F TEw

Options:



1.« 286

2. w 268
3 % 186
4. » 168

Question Number : 90 Question Id : 9983676506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 3
A man divided a piece of land among his three sons. He gave 23 2% km to the first and o of the whole to the second.

To the third son, he gave as much as land as he gave the first two together. The share of the third son is

Options:

1. » 112sqkm
2 % 110sqkm
3 o 101sqkm

4. % 202sqkm

Question Number : 90 Question Id : 9983676506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF JEHAT o JT=r FTH A ﬂémmﬂﬁ?ﬁﬁraﬁﬁwﬁmtmﬁrqﬁaﬁﬁ%i sq km =T 3T

O & N FoT S @ > Rwwr R ey & @ 56 9ger & 4 @ & 7 e s % aved
ST & ey 9 @ e Zl

Options:




1. = 112 sq km

2« 110 sq km

3. 101 sq km

4. = 202 sq km

Question Number : 91 Question Id : 9983676507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the least number which when doubled will be exactly divisible by 14, 18, 24 and 327
Options:
1. « 1008

7 % 1018

3. = 1080

A % 1028

Question Number : 91 Question Id : 9983676507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF B W O FEA i W gt 5w deEr v s= a7 3w 14, 18, 24 3T 32 ¥ qor ferew @ S
Options:

1. «+ 1008




2 % 1018

3. » 1080

4. % 1028

Question Number : 92 Question Id : 9983676508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three co-prime numbers are such that the product of the first two is 527 and that of the last two is 1147. The sum of the
three numbers is:

Options:

1. = 7

LA

LA

2. 8

Lh
S0

3. %

A = 68

Question Number : 92 Question Id : 9983676508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e WE-3ST HEae VHr §, SeH & el & # AuEker 527 § 3R MHfaH & &1 queea 1147 §
AT FEITHT & T E
Options:

1. = 75

7 ¢ 85



Question Number : 93 Question Id : 9983676509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The product of two numbers is 6348 and their HCF is 23. How many such pairs of numbers can be formed?

Options:

1. % 1

-

2.

Question Number : 93 Question Id : 9983676509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEITH!T F IUATS 6348 § AR ST Agean WAIECH (AH) 23 g O gEmst # Gaw A3
AT ST TFa 27

Options:




Question Number : 94 Question Id : 9983676510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

, %N : )
Three numbers are in the ratio 7 : P : = The difference between the greatest and smallest number is 96. The sum of
the numbers is:

Options:
1. v 208

7 % 218

A % 308

Question Number : 94 Question Id : 9983676510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

mmg:i:g ¥ 3 # ¥ s R 9@ i ged o gm ¥ @ W 3N 96 ¥ =

10
FEOTHT &7 T ¢
Options:

1. v 208
2 % 218
3 x 228

4. % 308



Question Number : 95 Question Id : 9983676511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2
If 40% of a number A is subtracted from another number B, then the resultant is equal to : of the second number B. The
ratio A : B is:

Options:

1. = 3:4

? o 3:2

Question Number : 95 Question Id : 9983676511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁrﬁwhmm%%ﬁrmmsﬁﬁmmé,ﬁqﬁmqﬂﬁmsﬁéE‘FW
AT A:B &

Options:

1. = 3:4
2. ¢ 3:2
3 =% 2:3
4 = 4:3

Question Number : 96 Question Id : 9983676512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3
If 20% of a number is subtracted from = of that number, we get 2400. What will 70% of that number be?



Options:
1. ¢ 4200

7 % 4400
3. % 3200

A % 4600

Question Number : 96 Question Id : 9983676512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmmazo%mwmagﬁ@mwmmomm%usummm%mgr:m

Options:

1. « 4200
2 % 4400
3. % 3200
A = 4600

Question Number : 97 Question Id : 9983676513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

; : : ; : . 48 _.
‘When the numerator and denominator of a fraction are increased by 50% and 100% respectively, it becomes o Find
the original fraction.

Options:
32

1. % 43



32

i
3 % as

13

Question Number : 97 Question Id : 9983676513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S e e & 37er 3T &7 & FH 50% 3T 100% mﬁmm%,a‘ragﬁmrggﬁm%’l
Aol fea ara FfFT)

Options:
32
1. = a3
32
7 & as
22

13

Question Number : 98 Question Id : 9983676514 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In an election. the winning candidate got 60% of total votes polled and won the election by 8000 votes. The total votes
polled were:

Options:
1. ® 45000



7 % 42000

3« 40000

A % 44000

Question Number : 98 Question Id : 9983676514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TAE H, S dT 3FAGAR # Ho Adr &1 60% FEar fFer R 37 8000 FAT @ o Sa T
Fac 9far # 3ot 0 FF Al Fr HET o

Options:
1. % 45000
2 % 42000
3. « 40000
A % 44000

Question Number : 99 Question Id : 9983676515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The mean of five observationsm. m + 5. m+ 10, m + 15 and m + 20 is 20. The mean of the first four observations is:

Options:
1. % 15.5

7 % 165



3 % 16

A & 175

Question Number : 99 Question Id : 9983676515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O YEfUT m, m + 5, m + 10, m + 15 3¥ m + 20 & AT 20 g1 9 = F&J0T FT AT 79 FL
Options:

1 % 155
2 %« 165
3 = 16
4, » 175

Question Number : 100 Question Id : 9983676516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cyclist travels 140 m, 160 m, 160 m, 150 m and 90 m in five successive minutes and for the next ten minutes
maintains the average speed of 12 km/h. Find the average speed of the cyclist (in m/sec).

Options:
1. v 3m/sec

? % 5m/sec

3. % 4m/sec



4 = 4.5m/fsec

Question Number : 100 Question Id : 9983676516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Us HISfehel W O WgHAe fHeel H HAw 140 m, 160 m, 160 m, 150 m 3¥ 90 m # g& T=
T g AR 3o &1 Bae & w12 kmh F g afF @ 9o @ &1 e gar & H$ug 1
Fr AT FL (m/sec H)|

Options:

1. v 3 misec

7 % b misec

3. % 4 misec

4 = 4.5 misec

Arithmetic Ability2
Group Number : 6
Group Id : 998367272
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2

Section Id : 998367278



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367402
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983676517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anita sold an article to Belicia at 10% gain. Belicia sold the same article to Caitlin at 20% gain and Caitlin sold it to
Dana at 15% gain. If Dana paid I 15.180 for the article, how much did Anita pay for it?

Options:
1. % < 12,000

2 % 9,000

3 % 10,500

4. » 10,000

Question Number : 101 Question Id : 9983676517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A # R avg @ 10% F o e afafdar 7 9w fean afoflwr @ 3@ avg # i F 20%
A 9T A= R FefoT F FH I F 15% A W F=| IS O F 39 G F Ow 215,180
seTaTe faram, @ selar @ g AT faraar s forar ar?

Options:

1 % 12,000

2 % 9,000



3 % 10,500

4. » %10,000

Question Number : 102 Question Id : 9983676518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sold two TV sets for T 12,000 each. On one, he makes a profit of 20% and on the other, he incurs a loss of
20%. Find the shopkeeper’s profit percentage or loss percentage in the whole transaction.

Options:

1. v 4% loss

2 % 4% profit

3w 3% profit

A % 3% loss

Question Number : 102 Question 1d : 9983676518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FHAGR & ar & BT gf §e 12,000 FH HHT W A T T TF W 3HS 20% FT A FAA
Saf gAY T 20% #T T el QP oF-F H GFPEEN & o Fiowd A1 @i sfawrd $F aomEr w1

Options:

1. » 4% @fa

7 ow 4% @H

3w 3% o



4, = 3% &

Question Number : 103 Question Id : 9983676519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man sold 150 oranges at ¥ 1 per piece and incurs a loss of 20%. How many oranges must he sell for ¥ 7 to make a
profit of 40%.

Options:
l.v 4

? % 5

3. % 6

4 = 8

Question Number : 103 Question Id : 9983676519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UH AT 7 150 Ha¥ T 1 Wi HAU HT & W I HR 20% F1 JHAH 35071 40% FT AH FAWH &
T 33 77 # s gat 9=+ =fgwl

Options:

1. v 4

2. % 5



Question Number : 104 Question Id : 9983676520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The list price of a book is T 840. It is sold at 15% discount. Further, it is sold for T 678.30 after allowing one more
discount. Find the rate of the second discount.

Options:
1. & 4%

? % 3%

3. v 5%

A % 6%

Question Number : 104 Question Id : 9983676520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh Ede 1 Hibd Hed T840 Tl FH 15% TT W 991 AT g1 A FH W & TR W T v ge &
ST 8 3R $H T 678.30 A 9T ST §1 EHEY e N &L A HIAT

Options:

1. = 4%
2 % 3%
3. v 5%
4 = 6%

Question Number : 105 Question 1d : 9983676521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man sold an article for ¥ 5760 after allowing two discounts 10% and 20% on its marked price. He incurs a loss of
10%. Find the difference between the marked price and the cost price.

Options:



1. « T 1600

7 % T 1500

3 % T 2600

A % 1800

Question Number : 105 Question Id : 9983676521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F g 7 FE aFg # 38 AT Feg W 10% 3HR 20% Hr gt ger & ag T 5760 H
99T $H HiE # 3@ 10% # g g1 3R HoT R AW Houw F @19 F HaT A HL

Options:

1. v 1600
2. % 1500
3.« T2600
4. % T1800

Question Number : 106 Question Id : 9983676522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man invested ¥ 10,000 at some rate on simple interest and T 8,000 at 2% higher rate of interest than the previous one.
If the interest in both cases is same after four years, find the rate of interest.

Options:
1. = 6%



7 % 10%

3 % 9%

A v 8%

Question Number : 106 Question Id : 9983676522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U Ao o fEr TTUNoT =8 & 9¢ T 10,000 3¥ 37 3T ¥ 2% 3== T X T 8,000 Fr &= &Fam)
TN T 1S grr e ¥ B sus Fr H UF AR g, ar s i 2T 7T #:

Options:

1. = 6%
2. % 10%
3 % 9%
4. v 8%

Question Number : 107 Question Id : 9983676523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arvind divided his savings between his daughters Kothai and Urmila in such a way that the interest received by Kothai
at 10% p.a. on simple interest for four years was double the interest received by Urmila at §% p.a. for six years. Find the
ratio in which the amount was divided.

Options:
1. = 5:12

? & 12:5



3. % 6:11

A = 11:6

Question Number : 107 Question Id : 9983676523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RfaE & 39 afeat w3k 3o & &= 3o =9 #r 3w @E ¥ e R & 10% wfaew
ST WTIRUT 3 &1 T I 8l H HE & P aen sar7 8% Saay S T o siar A og oo &
e o = @ e am O oY o s # fsnie #r s o

Options:
1. = 5:12
2 v 12:5
3. % 6:11
4. = 11:86

Question Number : 108 Question Id : 9983676524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMET & WIROT S0 9 98 diet 91 & v 10% sfaas, snmer o a6t & fow 12% gfoeay 3k aeme
ar aut &% forw 15% wfaay #r a7 ¥ Fo a= iy 3uR & 3fE 10 3 F 3 7 35F @R T T
el ST T 36,000 T, A1 3HA e 3uw foram ar?

Options:

1. » 30,000

2 % ¥35,000



3 x 40,000

4. = Z36,000

Question Number : 108 Question Id : 9983676524 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Maya borrowed some money at 10% p.a. on simple interest for the first three years, 12% p.a. for the next five years and
15% p.a. for the next two years. If the total interest paid by her at the end of 10 years is ¥ 36.000, then how much did
she borrow?

Options:
1. « ¥ 30,000

7 % 35,000

3 % 40,000

4. = 36,000

Question Number : 109 Question Id : 9983676525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest on a certain sum of money at 10% p.a. for two years is T 2100. For how many years should the
same amount be invested on simple interest at 6% p.a. to get the same interest?

Options:
1. « 3 Yyears 6 months

7 % 3 years

3w 4 years 5 months



A, % 3 years 8 months

Question Number : 109 Question Id : 9983676525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

10% wfoey #r a3 & forey e offr w & 3ot & T 2100 =rgfe <o a=7ar &1 9 =01 T &
T mAT Tfer Fr 6% gfoay & 27 ¥ WUR0T s 9 haer ast & v R w1 geme

Options:

1. » 3 ¥ 6 7

2. % 3 ®A

3 x 4 ¥ 5 A

4. = 3 T 8 AR

Question Number : 110 Question Id : 9983676526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain sum of money is invested on simple interest at 10% p.a. for three years and at 20% p.a. for two years on
compound interest. Find the ratio of simple interest to compound interest.

Options:

1. = 2

[ ]

: [5

—
LA
I~
| ]

2.

Question Number : 110 Question Id : 9983676526 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
s AffEa o=y & aemer e | 89 3wt F fw 10% 9T a9 3R 9wgfe s Woar a9 &
o 20% wf a9 # g7 o e frar ST &1 wmer s T R SO ¥ AT A AT

Options:

1. % 22:15
2 o 15:22
3. % 13:20
4. = 20:13

Question Number : 111 Question Id : 9983676527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A canteen in an IT company has a large cylindrical vessel of base radius 21 cm. The vessel holds orange juice that is
filled up to a height of 48 cm. The juice is served in a cylindrical glass whose radius is 3 cm and height is 8 cm. Each
glass is sold for ¥ 20. How much was all the orange juice sold for?

Options:
1. = T5780

7 % T 5680

3.« T5880

A % T 8580

Question Number : 111 Question Id : 9983676527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T A 96T T FAT F 3R BT 21 cm FT T d37 S0 919 W7 ¢ 5§ 99 § a0 & ™
@ A g AW 48 om #f FAR O% S AT §| §F @ H U SoAR FonE § OREr 19T §
Srmehr =4 3 cm 3T =% 8 cm 71 T 1 s PenH 720 # 97 19T g1 Hay 7 'O W Faw
H &= I

Options:
1 % T5780
2 % 5680
3. «» 5880
A % %8580

Question Number : 112 Question Id : 9983676528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of a hall is 3 of its height and its breadth is # of its length. The cost of whitewashing the four walls at the rate
5 3

of T 11 per sq m is T 4950. Find the cost of polishing the floor at the rate of ¥ 10 per sq m.
Options:
1. = T 450

7w T 540

3. % T520

A % T 560

Question Number : 112 Question Id : 9983676528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



wﬁaﬁmmmﬁgmmmmmﬁgaw g st e Freg @
AMTETTHT 9T Fhel e T oeg T 4950 21 T 10 gfa =7 HeT &7 27 T ® & Iiferel &l il e

AT HIAT
Options:

1. = T 450
2. v T540
3 % T520
A % Z560

Question Number : 113 Question Id : 9983676529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The base of a triangular field is five times of its altitude. The cost of cultivating the field at the rate of ¥ 12 per hectare is
< 480. Find its height.

Options:
1. « 400m

7 % 420m

3. % 300m

A % 350m

Question Number : 113 Question 1d : 9983676529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v SR T F HUR ST Farg F 9= o g1 T 12 9 gRA X T FH B F Sl H
T RIS T 480 g| FHH FaA® AT HIoC

Options:




1.« 400 m

2 % 420 m
3. % 300 m
4. % 350 m

Question Number : 114 Question Id : 9983676530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anubhav can complete a piece of work in 20 days and Bhavna can do the same work in 15 days. Anubhav and Bhavna
worked together for five days and the rest of the work was done by Chitra in two days. If Anubhav and Bhavna received
a salary of ¥ 780. what was Chitra’s share?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. T 550

2 T 580

3. 500

4. T 450

Question Number : 114 Question Id : 9983676530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fegera e F1o @ 20 e F 9 X THhar g AR e T FH 156 G F T Fowdr g1 g 3w
ST F 9T A a% e @Y w har AR aeh o #e Rer & g feat F R s e il
ST F TES T T 780 # aaw TRer o B+ fr=y & o Hifew?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.



Options:

1. ¥ 550
2. ¥ 580
3. ¥ 500
4. T 450

Question Number : 115 Question Id : 9983676531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1
Arjuna does S of a work in a week. Bhola finishes the entire work in a fortnight. Bhola starts the work and works only
for five days. Thereafter. Arjuna completes the job. How long did Arjuna take to finish the job?

Options:

1. = 15days
2 w 13 days
3 x 12days

4], « 14days

Question Number : 115 Question 1d : 9983676531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W T FH F - H T ToAE H F EaT §| ST F W FH H G F H T TG o9 S
IS FH F FaT § AN Fao 9= G F O FH Far §1 T6F 9, ST FH G R g1 IS
F FH TcH FA F Faar gag o

Options:




1.« 15

2. % 13 &=

3 % 12 fe=

Question Number : 116 Question Id : 9983676532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 350 m long train crossed a 750 m long platform in 45 seconds. Find the speed of the train.
Options:

1 « 88km/h

? % 80km/h

3 % 85kmh

A % 90 km'

Question Number : 116 Question Id : 9983676532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

350 m €T &7 & 45 s H 750 m T SoRwH U fFaTl & #T afw 7 FiieT

Options:

1. « 88 km/h



2 % 80 km/h

3. % 85 kmh

4. % 90 km/h

Question Number : 117 Question 1d : 9983676533 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two places A and B are 160 km apart. One car starts from A and another car starts from B at the same time. If they
travel in the same direction, they meet in four hours. If they travel in the opposite direction, they will meet in two hours.
‘What will be the speed of the car that starts from A?

Options:
1. = 80km/h

? « 60 km/h

3. % 20km/h

4. % 70km/h

Question Number : 117 Question Id : 9983676533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar Tt A 3R B 160 km #r gff W B §1 & FR A ¥ To= 9T @ § 3K 5 ww W gwd
FT B ¥ T IF Bl g1 G T v & foer F T § O ¥ 9w ue 7 w7 e ofy A
faoda e # =oR), & 3 & 9 & aww # Ao A ¥ % @ ATl SR @ A Far geie

Options:

1. % 80 km/h




2 & 60 km/h

3. % 20 km/h

4. % 70 km/h

Question Number : 118 Question 1d : 9983676534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hari drove his car at a speed of 60 km/h and reached his destination in five hours. Sunil covered the same distance in
four hours. If Hari increases his speed by 40 km/h and Sunil decreases his speed by 15 km/h, what will be the difference
in time taken by them to reach the destination?

Options:

1. + 2hours

? % 3 hours

3 % 2% hours

4. = 3% hours

Question Number : 118 Question Id : 9983676534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g @ 3l FR 60 kmvh Fr wfy F Feo$ AR 9T 9T F 39S AdeT TF GG TAT| YA & T gl
IR S H T FT & 3R g 3 afF 40 kmh Ferar § HR geler e aify & 15 kmih
Uarar g, ar 99T o '-|§;=4r| H 3daT 9 del AT H fFhgar 3a7 gem?

Options:

1. v 28



3. % 2% HEE

4. x 3% EC

Question Number : 119 Question Id : 9983676535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Study the following pie chart and the table and answer the questions based on them.

Proportion of Population of Seven Villages in 2002

Village % Population Below
Powverty Line

X 38
Y 52
z 42
R 51
s 49

46
v 58

If the population of village T in 2002 1s 42000, then what will be the population of village Z living below the poverty
line in that year?

Options:
1. v 9240

7 % 9200



3. % 8240

4. = 8500

Question Number : 119 Question Id : 9983676535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR BT g =8 3 oo &7 3eaas #1 3K 38F 3R W 92AT # Fea7 &

2002 # W MET B AATET HT FATAS

T il YT & S SeEem
(% #)
X 38
Y 52
Z 42
R 51
5 49
T 46
v 58

afe 2002 H g T T F9Ear 42000 §, a7 39 I g Z Fr 706 @ ¥ S5 @ T AT #7447
g

Options:
1. v 9240
2 % 9200

3. % 8240



4. % 8500

Question Number : 120 Question Id : 9983676536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following pie chart and the table and answer the questions based on them.
Proportion of Population of Seven Villages in 2002

Village % Population Below
Poverty Line

X 38
Y 52
z a2
R 51
- 49

46
v 58

Find the population of village V if the population of village R living below the poverty line in 2002 is 11220.
Options:
1. = 12750

7w 13750

3. % 13000

4. % 12000

Question Number : 120 Question Id : 9983676536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T o8 = 3k &5 o7 seaaa #Y 3 38EF T 9T wedt F 3T &

2002 # | Gl P FAEEIT T FAFIAS

=T T @ & e SmEe
(% )
X 38
Y 52
Z 42
R 51
§ 49
T 46
v 58

IfE 2002 & =g R & & @ ¥ A9 @ I JSEEar 11220 § ar o VAT IS8T A9 FL

Options:

1. = 12750

2.« 13750

3 % 13000

4. = 12000

General Englishi

Group Number : 7

Group Id: 998367273
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 998367279

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367403
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983676537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose then option that conveys the meaning of the
underlined idiom.

The constant screaming by the kids drives me up the wall.

Options:

1. = to feel like climbing the wall

2. » making the kids climb the wall
3. v 1o feel great annoyance

4. = Kids screaming loudly

Question Number : 121 Question Id : 9983676537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose then option that conveys the meaning of the

underlined idiom.

The constant screaming by the kids drives me up the wall.

Options:

1. = to feel like climbing the wall
2. *» making the kids climb the wall
3. v to feel great annoyance

4. = kids screaming loudly

Question Number : 122 Question Id : 9983676538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose then option that conveys the meaning of the
underlined idiom.

I realized my mistake and extended an olive branch to my
friend.

Options:

1. v Taking steps towards achieving peace.

2. = a sign of defeat in an argument
3. = steps towards better environment
4. = cutting off branches from an olive tree

Question Number : 122 Question Id : 9983676538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose then option that conveys the meaning of the

underlined idiom.

| realized my mistake and extended an olive branch to my

friend.

Options:

1. v Taking steps towards achieving peace.
2. % a sign of defeat in an argument

3. » steps towards better environment
4,

x cutting off branches from an olive tree

Question Number : 123 Question Id : 9983676539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

My father was a strong smoker.

Options:

1. = deep

2. v heavy

3. » large

4. = no improvement

Question Number : 123 Question Id : 9983676539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

My father was a strong smoker.

Options:

1. = deep
2. v heavy
3. # large
4. = no Improvement

Question Number : 124 Question Id : 9983676540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

You can look the movie on Netflix.

Options:

1. v watch

2. = observe

3. » witness

4. = no improvement

Question Number : 124 Question Id : 9983676540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

You can look the movie on Netflix.

Options:

1. ¢ watch
2. = Observe
3. % witnhess

4. = no Improvement

Question Number : 125 Question Id : 9983676541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is one word substitution for the given
phrase.

anything that leads to death.

Options:

1. = deadly

2. % trivial

3. = Inevitable
4. v fatal

Question Number : 125 Question Id : 9983676541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that i1s one word substitution for the

given phrase.

anything that leads to death.

Options:

1. = deadly
2. = trivial
3. % |nevitable

4. v fatal

Question Number : 126 Question Id : 9983676542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

There was collision between car and
autorickshaw. auto driver sustained some injuries.
Options:

1. = a, the, an, the
2. % amn, a, the, the
3.v4,a4,an, the
4, = g, a,an, an

Question Number : 126 Question Id : 9983676542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

There was collision between car and
autorickshaw. auto driver sustained some

Injuries.

Options:

1. = a, the, an, the
2. % an, a, the, the
3. v a, a, an, the
4. = a, a, an, an

Question Number : 127 Question Id : 9983676543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Take left turn from gate, walk till you come to
tea shop, turn right and second bungalow Is ours.

Options:

1. ¢ the, the, a, the
2. % 4, a, the, the
3. = g, the, a, an
4. = the, a, the, a

Question Number : 127 Question Id : 9983676543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

Take left turn from gate, walk till you come
to tea shop, turn right and second bungalow
IS ours.

Options:

1. ¢ the, the, a, the
2. %= a, a, the, the
3. = a, the, a, an
4. = the, a, the, a

Question Number : 128 Question Id : 9983676544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

It was nearly dark now and the rain was still coming
, pattering the windows.
Options:

1. = In, up, in

2. = about, off, down

3. v outside, down, against
4, = beside, in, with

Question Number : 128 Question Id : 9983676544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

It was nearly dark now and the rain was still
coming , pattering the windows.
Options:

1. = In, up, In

2. = about, off, down

3. v outside, down, against
4. = beside, In, with

Question Number : 129 Question Id : 9983676545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Satish 1Is, a doubt, the best student the class.

Options:

1. v without, In
2. = with, of

3. = besides, In
4. = although, of

Question Number : 129 Question Id : 9983676545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Satish s, a doubt, the best student the class.

Options:

1. v without, In



2. = with, of
3. = besides, In
4, = although, of

Question Number : 130 Question Id : 9983676546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

QOliver, could hardly stand, tried to raise

feet.

Options:

1. = he, him, her

2. = whom, herself, his
3. = we, him, his

4. v who, himself, his

Question Number : 130 Question Id : 9983676546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Oliver, could hardly stand, tried to raise

feet.

Options:

1. = he, him, her
2. = whom, herself, his
3. = we, him, his
4. v who, himself, his

Question Number : 131 Question Id : 9983676547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

on

on



Choose the correct option to fill in the blanks.

all went to the Municipal school, was an elegant
school, not the kind have these days.

Options:

1. = them, it, we
2. v Wwe, It, we

3. = us, 1It, us

4, = us, who, we

Question Number : 131 Question Id : 9983676547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

all went to the Municipal schoaol, was an

elegant school, not the kind have these days.

Options:

1. = them, It, we
2. v we, It, we
3. % Uus, It, us
4. = us, who, we

Question Number : 132 Question Id : 9983676548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

had I taken off my shoes at the temple, I had to
wear them again as the temple was closed.

Options:

1. = when, therefore



2. = after, than
3. ¥ no sooner, than
4. = whenever, after

Question Number : 132 Question Id : 9983676548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

had | taken off my shoes at the temple,

had to wear them again as the temple was closed.

Options:

1. = when, therefore
2. = after, than
3. ¥ no sooner, than

4. = whenever, after

Question Number : 133 Question Id : 9983676549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Preparing for these exams is difficult very boring.

Options:

1. v not only, but also
2. % S0, but

3. = though, and

4. = 30, that

Question Number : 133 Question 1d : 9983676549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

Preparing for these exams is difficult

boring.
Options:

1. v not only, but also
2. * so, but
3. = though, and

4. = so, that

Question Number : 134 Question Id : 9983676550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

very

We have eges In the fridge but there are of fruits

in the basket.

Options:

1. = little, many

2. = the few, much
3. v a few, plenty
4, = g little, some

Question Number : 134 Question Id : 9983676550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

We have eggs In the fridge but there are

fruits In the basket.

Options:

of



1. = little, many

2. = the few, much
3. v a few, plenty
4. = a |ittle, some

Question Number : 135 Question Id : 9983676551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

In our school of the teachers work hard bhut

lazy.

Options:

1. = more, much
2. = much, some
3. = the few, none
4, v mMost, some

Question Number : 135 Question Id : 9983676551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

In our school of the teachers work hard but

are lazy.

Options:

1. = more, much
2. * much, some
3. = the few, none

4. v most, some

are



Question Number : 136 Question Id : 9983676552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive
voice.

He discovered a large pit containing a variety of snakes.

Options:

1. = A large pit containing a variety of snakes has been
discovered by him.

2. = A large pit containing a variety of snakes was being
discovered by him.

3. v A large pit containing a variety of snakes was discovered
by him.
4. = A variety of snakes containing a large pit was discovered
by him.

Question Number : 136 Question Id : 9983676552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence In

passive voice.

He discovered a large pit containing a variety of snakes.

Options:

1. = A large pit containing a variety of snakes has been

discovered by him.

2. = A large pit containing a variety of snakes was being

discovered by him.



3. v A large pit containing a variety of snakes was

discovered by him.

4, = A variety of snakes containing a large pit was

discovered by him.

Question Number : 137 Question Id : 9983676553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the
given sentence.

Manish said to me, “I arrived here yesterday.”

Options:

1. * Manish told me that he arrived there the previous day.
2. v Manish told me that he had arrived there the previous
day.

3. » Manish told me that he would arrive here the previous
day.

4. = Manish told me that he had arrived there the yesterday.

Question Number : 137 Question Id : 9983676553 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the

given sentence.

Manish said to me, “| arrived here yesterday.”

Options:

1. = Manish told me that he arrived there the previous day.

2. v Manish told me that he had arrived there the previous

day.



3. » Manish told me that he would arrive here the previous
day.
4. = Manish told me that he had arrived there the yesterday.

Question Number : 138 Question 1d : 9983676554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jumbled
sentence.

he lost / duped by /all his savings /the local thug

Options:

1. v Duped by the local thug, he lost all his savings.
2. » He lost all his savings duped by the local thug.
3. » He lost duped by the local thug all his savings.
4. = All his savings duped by the local thug he lost.

Question Number : 138 Question 1d : 9983676554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct order of this jumbled

sentence.

he lost / duped by /all his savings /the local thug

Options:

1. v Duped by the local thug, he lost all his savings.
2. = He lost all his savings duped by the local thug.
3. = He lost duped by the local thug all his savings.
4, = All his savings duped by the local thug he lost.

Question Number : 139 Question Id : 9983676555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct order of this jJumbled
sentence.

not afraid of / Raman is /the truth / speaking

Options:

1. * Not afraid of speaking the truth is Raman.
2. = Of speaking the truth is Raman not afraid.
3. v Raman is not afraid of speaking the truth.
4. = Not afraid of speaking is Raman the truth.

Question Number : 139 Question Id : 9983676555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence.

not afraild of / Raman is /the truth / speaking

Options:

1. = Not afraid of speaking the truth 1s Raman.
2. = Of speaking the truth is Raman not afraid.
3. v Raman i1s not afraid of speaking the truth.

4. = Not afraild of speaking 1s Raman the truth.

Question Number : 140 Question Id : 9983676556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence.

on earth’s /f with you all? fwhat /is the matter

Options:

1. * What on earth’s with you all the matter?



2. v What on earth’s the matter with you all?
3. * The matter what on earth’s with you all?
4. = On earth’s the matter with you all what?

Question Number : 140 Question Id : 9983676556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence.

on earth’s / with you all? /what fis the matter

Options:

1. = What on earth’s with you all the matter?
2. v What on earth’s the matter with you all?
3. = The matter what on earth’s with you all?

4. = On earth’s the matter with you all what?
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Question Number : 141 Question Id : 9983676557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

RELEGATE

Options:

1. = distrust
2. ® remove
3. v entrust
4. = assume

Question Number : 141 Question Id : 9983676557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

RELEGATE

Options:

1. = distrust
2. % remove
3. ¢ entrust

4. = assume



Question Number : 142 Question Id : 9983676558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

VICIOUS

Options:

1. v wicked
2. # vivacious
3. = friendly
4. = gentle

Question Number : 142 Question Id : 9983676558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

VICIOUS

Options:

1. v wicked
2. % vIvacious
3. = friendly

4. = gentle

Question Number : 143 Question Id : 9983676559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

DISDAIN

Options:



1. = disregard
2. = love

3. v scorn

4. = approval

Question Number : 143 Question Id : 9983676559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given

word.

DISDAIN

Options:

1. = disregard
2. = |ove
3. ¥ scorn

4. = approval

Question Number : 144 Question 1d : 9983676560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

EQUIVOCATE

Options:

1. = confront
2. » face

3. % accept
4. v evade

Question Number : 144 Question 1d : 9983676560 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct synonym for the given

word.

EQUIVOCATE

Options:

1. = confront
2. = face
3. = accept

4. v evade

Question Number : 145 Question 1d : 9983676561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct synonym for the given
word.

NOCTURNAL

Options:

1. = daily

2. v nightly

3. = diurnal
4. = perpetual

Question Number : 145 Question Id : 9983676561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct synonym for the given

word.

NOCTURNAL



Options:

1. = dally
2. v nightly
3. = diurnal

4, = perpetual

Question Number : 146 Question Id : 9983676562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

ACCELERATE

Options:

1. v impede
2. = quicken
3. = speedup
4. = hasten

Question Number : 146 Question Id : 9983676562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct antonym for the given

word.

ACCELERATE

Options:

1. v Impede
2. % quicken

3. * speedup



4. = hasten

Question Number : 147 Question Id : 9983676563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

NEFARIOUS

Options:

1. = disloyal

2. = disreputable
3. v respectable
4. » shameful

Question Number : 147 Question Id : 9983676563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word.

NEFARIOUS

Options:

1. = disloyal
2. = disreputable
3. v respectable

4. = shameful

Question Number : 148 Question Id : 9983676564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct antonym for the given
word.

STEREOTYPE

Options:

1. = typical

2. v unconventional
3. = run of the mill
4. = standard

Question Number : 148 Question Id : 9983676564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word.

STEREOTYPE

Options:
1. = typical
2. v unconventional

3. ® run of the mill

4. = standard

Question Number : 149 Question Id : 9983676565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

ANOMALY

Options:

1. = deprivation



2. « sameness
3. = deviation
4. = simplification

Question Number : 149 Question Id : 9983676565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given

word.

ANOMALY

Options:

1. = deprivation
2. ¥ sameness
3. = deviation

4. = simplification

Question Number : 150 Question Id : 9983676566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct antonym for the given
word.

ENTHRALL

Options:

1. = spellbind
2. % enchant

3. = mesmerize
4. v hore

Question Number : 150 Question Id : 9983676566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct antonym for the given

word.

ENTHRALL

Options:

1. = spellbind
2. * enchant
3. ®* mesmerize
4

. ¢ bore

Sub-Section Number: 2
Sub-Section Id: 998367405
Question Shuffling Allowed : Yes

Question Id : 9983676567 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions given below it.

Air pollution tends to pose the biggest risk to the very old, to
the very young and to people already suffering from some
chronic ailments? Asthma and heart disease are two major
conditions that put people at risk. Scientists are learning that
air pollution can pose serious risks to anyone. You don’t have
to be old or sick. You don’t have to suck in horrible fumes or
air so full of pollutants that you can see and taste them.
Indeed, emerging data show that even pollutants too small to
see with the naked eye can harm healthy children and teens.

That pollution can alter how their brains function. It can
make it hard for kids to concentrate. It also can throw out of
whack hormones — chemical messengers that direct the body’
s activities. In short, it can seriously damage young minds and
bodies. Lilian Calderén- is a doctor who looks at the body’s
tissues to diagnose disease. She looks for disease caused by
pollutant particles that are small — often way too tiny to see.
Scientists call these tiny specks particulates. They come from
many sources. Power plants, factories, homes and cars — all
spew particulates. So can forest fires.

Once inhaled, these particles can move deep into the lungs.
The oxygen you breathe passes from the lungs through a thin
membrane. From there it enters the blood. Many particulates
are small enough to cross that membrane into the blood, too.
They’re known as nanoparticulates. They can trigger
inflammation wherever they travel. And the blood can carry
them everywhere, even to the brain. Inflammation can be a
good thing. The body uses it to kill off damaged cells and
harmful germs. But inflammation in the brain is dangerous. It
can destroy sensitive cells, causing memory problems.

Another reason to control air pellution: It can stress out the
body.

Imagine you're trapped in a room that’s filling with smoke.
Your heart is racing. You jump into action. In just seconds,
you open the window and climb out the burning building to
reach safety. The body’s quick reaction to such an emergency
is called the fight-or-flight response.

Scary events, such as a fire, aren’t the only things that can
activate that fight-or-flight response. Air pollution can too,
new data show. It does so through hormones.

Hormones are the body’s chemical messengers. They control
many important activities. Stress hormones help people react
quickly to life-threatening situations. When we're faced with
a fearful situation, the body ramps up production of certain
hormones, such as adrenaline. Breathing polluted air can
trigger a similar response. In an emergency, stress hormones
and the fight-or-flight response can he helpful. But when the
body ups their production too often or for too long, those
hormones can harm the heart and blood vessels.



Sub questions

Question Number : 151 Question Id : 9983676568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is NOT a health hazard due to pollution?

Options:

1. = lack of concentration
2. = affect body activities
3. » damage brains
4. v affect eyesight

Question Number : 152 Question Id : 9983676569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are nanoparticulates?

Options:

1. = plastic particles that pollute water and air

2. v pollution particles that can enter the blood stream
3. » small particles of any matter

4. = particles that promote health

Question Number : 153 Question 1d : 9983676570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fight-or-flight response happens when:

Options:

1. v there is an emergency of any kind

2. » the mind is adequately rested

3. » small particles of thin membranes
4. = one wants to fight and not run away

Question Number : 154 Question 1d : 9983676571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is common between a scary situation and pollution?

Options:

1. * both can be controlled



2. = both affect the atmosphere
3. v both trigger the fight-or-flight response
4. = there is nothing common between them

Question Number : 155 Question Id : 9983676572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under what circumstances do the stress hormones become
dangerous?

Options:

1. = They are always beneficial to the body.
2. = They are never beneficial to the body

3. » When one faces a dangerous situation

4. v When they are activated again and again

Question Id : 9983676567 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the questions given below it.

Air pollution tends to pose the biggest risk to the very old,
to the very young and to people already suffering from
some chronic ailments? Asthma and heart disease are two
major conditions that put people at risk. Scientists are
learning that air pollution can pose serious risks to anyone.
You dont have to be old or sick. You dont have to suck in
horrible fumes or air so full of pollutants that you can see
and taste them. Indeed, emerging data show that even
pollutants too small to see with the naked eye can harm

healthy children and teens.

That pollution can alter how their brains function. It can
make it hard for kids to concentrate. It also can throw out
of whack hormones — chemical messengers that direct the
body’s activities. In short, it can seriously damage young
minds and bodies. Lilian Calderén- is a doctor who looks at
the body’s tissues to diagnose disease. She looks for
disease caused by pollutant particles that are small — often
way too tiny to see. Scientists call these tiny specks
particulates. They come from many sources. Power plants,
factories, homes and cars — all spew particulates. Sc can

forest fires.

Once inhaled, these particles can move deep into the lungs.
The oxygen you breathe passes from the lungs through a
thin membrane. From there it enters the blood. Many
particulates are small enough to cross that membrane into
the blood, too. They’re known as nanoparticulates. They can
trigger inflammation wherever they travel. And the blood can
carry them everywhere, even to the brain. Inflammation can
be a good thing. The body uses it to kill off damaged cells
and harmful germs. But inflammation in the brain is
dangerous. It can destroy sensitive cells, causing memory

problems.

Another reason to control air pollution: It can stress out the
body.

Imagine you’re trapped in a room that’s filling with smoke.
Your heart is racing. You jump into action. In just seconds,
you open the window and climb out the burning building to
reach safety. The body’s quick reaction to such an
emergency is called the fight-or-flight response.

Scary events, such as a fire, aren’t the only things that can
activate that fight-or-flight response. Air pollution can too,

new data show. It does so through hormones.

Hormones are the body’s chemical messengers. They
control many important activities. Stress hormones help
people react quickly to life-threatening situations. When we’
re faced with a fearful situation, the body ramps up
production of certain hormones, such as adrenaline.
Breathing polluted air can trigger a similar response. In an
emergency, stress hormones and the fight-or-flight response
can be helpful. But when the body ups their production too
often or for too long, those hormones can harm the heart

and blood vessels.



Sub questions

Question Number : 151 Question Id : 9983676568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these i1s NOT a health hazard due to pollution”

Options:

1. = lack of concentration

2. » affect body activities
3. *» damage brains

4. v affect eyesight

Question Number : 152 Question Id : 9983676569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are nanoparticulates?

Options:

1. = plastic particles that pollute water and air
2. v pollution particles that can enter the blood stream
3. = small particles of any matter

4. = particles that promote health

Question Number : 153 Question Id : 9983676570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fight-or-flight response happens when:

Options:

1. v there I1s an emergency of any kind
2. » the mind I1s adequately rested
3. = small particles of thin membranes

4, = one wants to fight and not run away

Question Number : 154 Question Id : 9983676571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What i1s common between a scary situation and pollution?

Options:

1. = both can be controlled
2. = both affect the atmosphere
3. v both trigger the fight-or-flight response

4. % there Is nothing common between them

Question Number : 155 Question 1d : 9983676572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under what circumstances do the stress hormones become

dangerous?

Options:

1. = They are always beneficial to the body.
2. = They are never beneficial to the body
3. = When one faces a dangerous situation

4. v When they are activated again and again

Sub-Section Number: 3
Sub-Section Id: 998367406
Question Shuffling Allowed : Yes

Question Id : 9983676573 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the following questions:

In childhood I honestly believed that if I could “just be like
everyone else,” everything would be fine. It brought back
memories of frustration with a body that never seemed to do
what I wanted it to do, and feeling so desperately like I
warnted to fit in but thinking I was the problem. Feeling like
being able to walk was the magical cure that would solve all
my problems, and that if I just had a “normal” body like my
sister, everything would be perfect.

Thankfully, times have changed, and I am not that little girl
anymore. It took a long time, but I have learned to love my
body, and I no longer see walking as the magical cure that
will selve all my problems. Instead, I have learned to embrace
my wheelchair as the amazing tool it is. The tool that allows
me to see the world and live my life on my own terms.
Slowly, I have learned I am not the problem and never have
been. I have learned that cerebral palsy is not something to be
bhattled with, overcome or conquered. It is a part of me — a
complicated part for sure, but a beautiful one, and I wouldn’t
change it for anything. It has shaped my life and the way I
view the world around me, and it’s given me so many great
relationships and experiences for which I will be forever
grateful.

I will never say I fight my disability because doing that would
be fighting a war against myself, and a very important part of
me. I will never say I fight cerebral palsy because disability,
and cerebral palsy, are not problems to be battled.

I will say I fight prejudice. I will say I fight lack of access,
stigma and ignorance. I will say I fight discrimination. I will
say I fight these things, because I do. These are battles to fight,
and win. It is prejudice, lack of access, stigma, ignorance and
discrimination that prevent me from having the same
opportunities in life as my able-bodied brother and sister, not
my cerebral palsy, my wheelchair or my inability to walk.

I will fight to make this world a better place for future
generations of kids just like me. I will fight to make sure they
are never told or led to believe their bodies are a problem or
something they must do battle against on a daily basis just to
fit in. I will fight to make sure those kids have the same
opportunities as everybody else, and never bhelieve everything
would be better if they could just change who they are.

I will fight for a world where the mere presence of disability
does not make you extraordinary. Where disabled children
are taught to aspire to more than just existing, and where
being disabled doesn’t mean you have to be 10 times bhetter
than everyone else just to be good enough.

I will fight for a world where we talk about living with and
owning our disabled bodies rather than overcoming them. I
will fight for a better world, and a better future, because
those things are worth fighting for, but I will not fight a war
against myself.



Sub questions

Question Number : 156 Question Id : 9983676574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During childhood what did the writer believe about herself?

Options:
1. v That everything would be perfect if she became like all
the others.

2. = That she would never be able to be like others.
3. » She accepted her/his body as it was.
4. = That she would grow to be a healthy person.

Question Number : 157 Question Id : 9983676575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Times have changed... refers to:

Options:

1. = She has become like others.

2. = She has become a frustrated person now.
3. v Her perception about herself has changed.
4. = She has been accepted by everyone.

Question Number : 158 Question Id : 9983676576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The writer’s message to the kids with disabilities is:

Options:

1. = to accept their being disabled

2. v to have aspirations for themselves
3. = to get proper medical aid

4. = 1o love thelr wheel chairs

Question Number : 159 Question Id : 9983676577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the writer NOT mean when she says, “living with
and owning our disabled bodies”?



Options:

1. = not being frustrated with the body

2. = not trying to overcome the disability
3. v To fight and overcome the disability.
4. = accepting the body with its disabilities

Question Number : 160 Question Id : 9983676578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What can be concluded from the passage?

Options:

1. ¥ The physically disabled don’t need to work harder than
others to prove themselves.

2. = The disabled will never be able to make a difference in
society.

3. = Soclety will always discriminate against the disabled.
4. = heing physically able is the greatest boon of life.

Question Id : 9983676573 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the following questions:

In childhood | honestly believed that if | could “just be like
everyone else,” everything would be fine. It brought back
memories of frustration with a body that never seemed to
do what | wanted it to do, and feeling so desperately like |
wanted to fit in but thinking | was the problem. Feeling like
being able to walk was the magical cure that would solve
all my problems, and that if | just had a “normal” body like
my sister, everything would be perfect.

Thankfully, times have changed, and | am not that little girl
anymore. It took a long time, but | have learned to love my
body, and | no longer see walking as the magical cure that
will solve all my problems. Instead, | have learned to
embrace my wheelchair as the amazing tool it is. The tool
that allows me to see the world and live my life on my
own terms. Slowly, | have learned | am not the problem
and never have been. | have learned that cerebral palsy is
not something to be battled with, overcome or conquered. |t
is a part of me — a complicated part for sure, but a
beautiful one, and | wouldn’t change it for anything. It has
shaped my life and the way | view the world around me,
and it's given me so many great relationships and
experiences for which | will be forever grateful.

| will never say | fight my disability because doing that
would be fighting a war against myself, and a very
important part of me. | will never say | fight cerebral palsy
because disability, and cerebral palsy, are not problems to
be battled.

| will say | fight prejudice. | will say | fight lack of access,
stigma and ignorance. | will say | fight discrimination. | will
say | fight these things, because | do. These are battles to
fight, and win. It is prejudice, lack of access, stigma,
ignorance and discrimination that prevent me from having
the same opportunities in life as my able-bodied brother and
sister, not my cerebral palsy, my wheelchair or my inability
to walk.

| will fight to make this world a better place for future
generations of kids just like me. | will fight to make sure
they are never told or led to believe their bodies are a
problem or something they must do battle against on a
daily basis just to fit in. | will fight to make sure those kids
have the same opportunities as everybody else, and never
believe everything would be better if they could just change
who they are.

| will fight for a world where the mere presence of disability
does not make you extraordinary. Where disabled children
are taught to aspire to more than just existing, and where
being disabled doesn’t mean you have to be 10 times better
than everyone else just to be good enough.

| will fight for a world where we talk about living with and
owning our disabled bodies rather than overcoming them. |
will fight for a better world, and a better future, because
those things are worth fighting for, but | will not fight a war

against myself.



Sub questions

Question Number : 156 Question Id : 9983676574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During childhood what did the writer believe about herself?

Options:

1. v That everything would be perfect If she became like all

the others.
2. = That she would never be able to be like others.
3. = She accepted her/his body as It was.

4, = That she would grow to be a healthy person.

Question Number : 157 Question Id : 9983676575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Times have changed... refers to:

Options:

1. = She has become like others.
2. » She has become a frustrated person now.
3. v Her perception about herself has changed.

4. = She has been accepted by everyone.

Question Number : 158 Question Id : 9983676576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The writer's message to the kids with disabilities Is:

Options:

1. = to accept their being disabled
2. v to have aspirations for themselves
3. = to get proper medical aid

4. = to love their wheel chairs



Question Number : 159 Question Id : 9983676577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the writer NOT mean when she says,

with and owning our disabled bodies™?

Options:

1. = not being frustrated with the body

2. ® not trying to overcome the disablility
3. v To fight and overcome the disability.
4, = accepting the body with Its disabilities

Question Number : 160 Question Id : 9983676578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What can be concluded from the passage?

Options:

“Iiving

1. v The physically disabled dont need to work harder than

others to prove themselves.

2. = The disabled will never be able to make a difference

In soclety.

3. = Society will always discriminate against the disabled.

4. = being physically able i1s the greatest boon of life.
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Question Number : 161 Question Id : 9983676579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HT ST, a7

Options:

Question Number : 161 Question Id : 9983676579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT HAT s F?

Options:

1. = Tacel
2. v ceraT
3. » dgd
4. » TJcOHA

Question Number : 162 Question Id : 9983676580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT § T O 9T SIec, & 87




Options:

1. » GUT
2. % @i
3. vqd

4. » GT

Question Number : 162 Question Id : 9983676580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i@ & @ ia a1 o= d5g &7

Options:

1. = T
2. % Gl
3. v @
4., » TS

o,

Question Number : 163 Question Id : 9983676581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mg & T DI 9T Sec, oUW g7

Options:

1. =9
2. % T
3. % ol
4, v T

Question Number : 163 Question Id : 9983676581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAITelaT A & i GT e dcdH &7

Options:

1. = O
2. % ol
3. % 2ol




4. v Tl

Question Number : 164 Question Id : 9983676582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

gTelTEd & & [ =T aTeT UEE, g

Options:

1. v THiTold
2. % YWl
3. = UHTold
4. % Gideltd

Question Number : 164 Question Id : 9983676582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@d & & g sl arel e ¢

Options:

1. ¢ AT
2. = HTeNT
3. » gfafera
4, = iHed

Question Number : 165 Question 1d : 9983676583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TR — IFTH Aec; I T Fat N g

Options:

1. % 3N - 4@
2. % TG — IS
3. % 3T — ST+ &lTel]
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Question Number : 165 Question 1d : 9983676583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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ST - SATeda aTell

ol
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v SlTde arell - 3felailel

Question Number : 166 Question Id : 9983676584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. » ihaT®

2. * SATdard
3. ¢ Hlddlddh
4, * YT

Question Number : 166 Question Id : 9983676584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ters’ T YR I T &7

1. = TYTFdarden

2. % Sldardeh
3. v HTddid<

4. = gerdardeh

Question Number : 167 Question Id : 9983676585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘S GATH T T[UTeATeren eI SIyur 3

Options:

1. = d4T
2. v ST
3. % UET




4, = agT

Question Number : 167 Question Id : 9983676585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘S’ TdATH ] IoTaTT IEEIR S

Options:

1. % 4T
2. v ofEr

4, = JAT
Question Number : 168 Question Id : 9983676586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Thterr Tohd YepTX T Tereigor 372

Options:

1. v TUTETI®
2. % UICHTUT STEIeh

3. x JEITIdd

4. = FIAATHER

Question Number : 168 Question Id : 9983676586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘SThTel TohE TR T faersor &7

Options:

1. ¢ JNEIEES
« TRATOT Seleh

2.
3. » EATATIh
4.

L4 i
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Question Number : 169 Question Id : 9983676587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgfeliad # 3rpd® 1] 3




Options:

1. v =et=T

2. % THATEAT
3. = IGISAT
4, = JrGTAT

Question Number : 169 Question Id : 9983676587 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farAa@T & srdA+ 91 &:

Options:

1. v e

2. % TaTenTele]

3. = 3TTSAT

4, » HFglolall

Question Number : 170 Question Id : 9983676588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TG SYToIY AIgIdT & 19 UGUT o7 g’ AT § [shaT TS g

Options:
1. % g
2. v 3gTIq

3. % qgIdT &
4, » Tdy T &0 3l

Question Number : 170 Question Id : 9983676588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TE SHTOIV AGIT & ToF FSUT o &1’ areg H Torar aeivor &

Options:

1. = dg
2. v 3HfeIT
3. * FGIAT &




4. = o TFZUT @ T

Question Number : 171 Question Id : 9983676589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

YeGUBIR HT Gier e, gim:

Options:

1. * qdl + TR
2. % Ydl + 3T
3. = Yid + 3MUHR
4. v gid + ITHR

Question Number : 171 Question Id : 9983676589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIThIT H1 ot [ gem:

Options:

1. = Udr + 3TN

2. = Udl + 39N
3. » Ui + MIhRR
4. v Ui + 39PN

Question Number : 172 Question 1d : 9983676590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR # DI 9T IATY g7

Options:
1. » qcgey
2. % g

3. v AR
4, = gAY

Question Number : 172 Question 1d : 9983676590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RS & el GT TAT &7

Options:
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Question Number : 173 Question Id : 9983676591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GATE # Thg IUHT BT T F3IT g2

Options:

1.9

2. % 9§
3.v Y
4. % =9

Question Number : 173 Question Id : 9983676591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘H‘W’ﬁﬁmmﬂ‘rwmgm?f?

1. = &
2.
3. v §H
4.

Question Number : 174 Question Id : 9983676592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SieeT # Thd T &1 WA FaIT 87

Options:

1. % of

2. v 3ol
3. = ol



4. %

Question Number : 174 Question 1d : 9983676592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sl H T a1 Er&l’l'cngaiT%?

Options:

1. = o

2. v 5ol
3. = e

4. = o

Question Number : 175 Question Id : 9983676593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTeid & @I 9T gee STl 3?

Options:

1. v STeldlg
2. % ST&H
3. ® Sig
4. » el

Question Number : 175 Question Id : 9983676593 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl T&d H el AT eg THIfolel &7

Options:

1. v STearg
2. % ST&H
3. » SIgsT
4. = SlH

Question Number : 176 Question Id : 9983676594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TR Dg= o7 Ty U PT 3T 27




Options:

1. » T U~
2. % GeATH Uea=
3. % TeISIyuT UcE=er
4. v TrdT UcE=¢

Question Number : 176 Question Id : 9983676594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TR hgel ol Tohd UCEed T 3CTEI0T &7

Options:

1. = G Ggaee
2. » HAdATH Ygsed
3. = AT UgEey
4, v TohIT dgeed

Question Number : 177 Question 1d : 9983676595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘qg oIS, ST el TIT 2T, 3T YT 10T 81” &g § i1 el 1T &1 Ty

TehTX T U g7

Options:

1. » TopaT SUATET

2. % TopaT TerQiwur Suemed
3. v TaSIwr Suarad

4, » AT 3UATF

Question Number : 177 Question Id : 9983676595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TE TTShI, ST el AT oY, 3T HT =Y &1 T A S el
IRT A7 g ThR T 3Ua=d g7

Options:

1. % TohaT 3UgTay




2. = TopaT T@ewUT 3Uaey
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4. = AT SUATHY

Question Number : 178 Question Id : 9983676596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Dot DT, qS oIg ATAT ThY YPIR BT AT 32

Options:

1. # IIeT dATHY
2. v 0y arag
3. * G aTFg
4, = JUAIFT

Question Number : 178 Question Id : 9983676596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H DT IH, I TE AT R TRR KT T &7

Options:

1. = Il dTFY

2. v T8 gy

3. = H-gcrd CIERS

4, % 3UGTHT

Question Number : 179 Question Id : 9983676597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCShH T &8 & I 9T a1 g 37

Options:

1. v &2 A1 91 TGT 87
2. % &7 9T TGT g AIG?
3. % AIgT FAT QT G 87
4, » T GT g FAT AIg?

Question Number : 179 Question Id : 9983676597 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

YeshA HT TCC & HleT AT AT Y B?

Options:

1. v T AYgeT A I&T &7
2. = T & TET & Agar?
3. = AIgel AT O& T@T &7
4. = @ I@T & AT AGaA?

Question Number : 180 Question Id : 9983676598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T Y &8 I I AT AT e 87

Options:

1. * STH 7 ol 3N GIST Alet Al
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Question Number : 180 Question Id : 9983676598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3edd T TEC @ Hlel AT aATFT UG &7

Options:

1. = eOTH o & 3 =T Ael ol
2. % oUTH o o 3R GIET Al ol
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4. v FA F g 3T AT Al [
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Question Number : 181 Question Id : 9983676599 Question Type: MCQ Option Shuffling: Yes
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4. = helh

Question Number : 182 Question Id : 9983676600 Question Type: MCQ Option Shuffling: Yes
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Question Number : 184 Question Id : 9983676602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v g9y
2. % EAr
3. = gad
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Question Number : 184 Question Id : 9983676602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v HHG
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3. = gad
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Question Number : 185 Question Id : 9983676603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M Teheent T TIETT gl 872

Options:

1. = 379
2. % T
3. v AT



4. % g

Question Number : 185 Question 1d : 9983676603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TohgehT TATIGRT el &7

1. = 378
2.« Tl
3. v oar
4. = &

Question Number : 186 Question Id : 9983676604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I BT T 9T, B

Options:

1. v Id4d
2. % Jchl
3. % YRy

4. = gd

Question Number : 186 Question Id : 9983676604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seald’ &1 dald 58 &

Options:

1. v 3gddd

2. % 3chy

3. = Uhy

4. = gafq

Question Number : 187 Question Id : 9983676605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

<3 T e 2N




Options:

1. « Tordeq
2. % Tgfq
3. = Ty
4, v Ha g

Question Number : 187 Question Id : 9983676605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HiAaR 1 oo grem:

1. % faheq
2. = ot
3. % TR
4. v @

Question Number : 188 Question 1d : 9983676606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Tt Taelid 2?

Options:

1. = g
2. v 9T
3.« Mg
4, * U

Question Number : 188 Question Id : 9983676606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Thgar [Tald g7

Options:

1. = AT
2. v HiF
3.« ToIeg




4.%E§EI'UT

Question Number : 189 Question Id : 9983676607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

GHTE A<M & Dlel § TS AT’ Uieh b @it S, BT AT IT:

Options:

1. * Potiad
2. v 49
3. = Yada
4. = Uepdd

Question Number : 189 Question Id : 9983676607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HHTE 372Nk o hldd H TAdT AT’ IieFd o IGTTehd LTSS T
ela g

Options:

1. = SFollddd

-

2. v SddT
3. = fgay
4. » TUohdd

Question Number : 190 Question Id : 9983676608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T AT E:

Options:

1. » AT
2. % T

3. % W
4. v 78

Question Number : 190 Question Id : 9983676608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eiccla) Bens &

Options:
1. = ATHE
M
3. = WY
4, v US&
C

Sub-Section Number: 2
Sub-Section 1d: 998367409
Question Shuffling Allowed : Yes

Question Id : 9983676609 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

Siter T&d T el l UGehd U8 T4 T[T & Iqa Iy

USTTST UTd # 1% 19 I1gel o 99 YU i TATIAT il T9H T o
TeMTee g am It Pl oiel WM g Niegi= IS Bl FTST B hr
Agca Ul YiHeT HTS| Hith Mol i g TSI IUeTiedl Ig AT ST g
Teh 3G WYUT AR Dl Ueh FiEpiden I H SIS 12T 3 el Dl Tepitit
T8  TGT GHSAT SIT YT gl F1Tch SHDBT YIS TgHal gl 39 ATcler &
3T § oI JAUT qh AIgeAT H oIt T2 e TATET & ofehd TATAT dah
3T T3S ¥ oleh FHCTATT Tk GHT ATHeT &1 31T: I STTel U+ Terrer §

ST AT eTEder # dhellT L9 & GiEpideh TSR dh TS A1 hellX
PR & Hich H HFA-SIIe hl e GTAhdl ¢@d gl 37 F Fith ITehl
TR TAARURT § ST U7 g1 HETRToi GHTST 37g § UiTield T, eii-He
SITEITIR 2T g1 STHIL-TIEIe &l 3faX B, &R 3 1T T 3fdX 31 39Telq
el B Feld TX gIenY I A Hod| hl YIdBT DL gl

Sub questions

Question Number : 191 Question 1d : 9983676610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&9 th HiEPpiden T dh 3USd i o7

Options:

1. * 991

2.« & MiAe 93
3. v PR

4, » JAGIEH

Question Number : 192 Question Id : 9983676611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR DT 37 2

Options:

1. v T4
2. = Tguda
3. * ggUL
4, = g

Question Number : 193 Question Id : 9983676612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T o 3 g

Options:

1. v Taremer
2. % =
3. = g
4. * oTg

Question Number : 194 Question 1d : 9983676613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG BT A 3

Options:

1. = ZIT
2. % T9i79er
3. v dreur

4, » g



Question Number : 195 Question Id : 9983676614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hith 3T Tel @l L& &haT IT?

Options:

1. = eTichaTer
2. v JAdIA®
3. = grEqT

4, = qETSTE!

Question Id : 9983676609 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

ISl Ylecd H % alleleh AES o 0@ TS HT T2 Hr|
ATk & o T&IMde g dF Tl HT o6l WRT § Siegla
HHATST I HINST Flal T AGcaqoT AT [T | ik
3-1+IE4'1|5|0_'I @rﬂaﬁaé’mqaisa %mm?%mw
HNCT I Teh HEhicish §F H S5 [SATI 3H 3aTelel I ThElT
Toe & el THST ST ohdT &l Fifeh SHERT THS qggeﬁ‘i =y
SO 3elelel # 3107 F ol FAOT dh Afgell F oL TET T
ffera @ oY JifITeTd aF 31T f&g & ot FUeATT dF el
oA & 3 TE 3Erelel 3Yal TAHT H STeidliaeh AT| aEdq
H FE G & HEPicieh AR & AT T FaR HFhN
q o 7 ATeg-Siidel T geccal @Teiehar 3@ §1 318 @ Al
3eTehl YT TAaaRT & SIST Weel &1 AeIehlellel HATS 38 &
gl 4T, GaT-Ae 3TOTRT 97 S81 FAR-IRIE FT 37T &,
oqH 3T ST FT 3 &1 59T FaR 3o gad W 8t
3T Aledd Hedl i dldsar i Bl

Sub questions

Question Number : 191 Question Id : 9983676610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

33l & HERIIH AGSIERUT & 3IAGT Hiel A7

Options:

1. = dllaleh

2.« 7% Aifde g




4. » JerEE™H

M

Question Number : 192 Question Id : 9983676611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘TRET FT AT &

Options:

1. v T
2. = fegusi
3. » FEUETH
4, = forousy

Question Number : 193 Question Id : 9983676612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Facal T I &

Options:

1. v TQerer

2.
3. = &or
4. 2)

Question Number : 194 Question Id : 9983676613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TELT T AT &

Options:

3. v dreor
4. ﬁqﬁiﬁ'

Question Number : 195 Question Id : 9983676614 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

1T 37TSToTel hT TI®RT haT UT?

Options:

1. %= SgTFdare)

2. v SladiAh
3. % grHAAT
4. = JTATTET

Sub-Section Number: 3
Sub-Section 1d: 998367410
Question Shuffling Allowed : Yes

Question Id : 9983676615 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

STl T&d WU LTSN el Ugehd U8 T T[T dh Iqa Iy

WIRAg I & T [T T T STHTHT IdT gl 39 el AT A fg=cl &
e} 3T AGTA X TS, fgde & 910 R USTl fawc 3meia-T & &7 |
Teacr i # g Wgca Ul AIS 3T 37T 3MTellaAT AT & FHTT &I #
Ferveh glent ATTgcd & ¥ UB deh Uga ol WITH T gl 3MoTiaT &l I
T Tawc ITET=T & ST il Hg, DAl al JATel AT il SR Jiegy
TEa T I | It g1 SHDBT WG BIRUT ATelaehl i STelterT GHST & S
o T G 3N SEA Ao qui hIRUT TG TgT Teh WL e
TersagTiged W@ 3USTT GTiged & Mde MY 3R T YihdT i Al
T8 3T/ & UTdT $eR Tg=al # wer & riviedih gAdT # gl gl maT ot
3R Tg=cl # W Taur W &1 g o & a7 9iiged # e Pl gt
Taentad gT Tgt 4Tl NI9eh Aqcandl T Tgadl St &1 Teerer I #
AT ' S T[T Tehidd g8 FTH Tia@d: ATdereil & et &
LU H Tl Teree, qeTTcH® Hodich, SII3Tl TUT Tel Teagiieen

Teia T T TerehTd F3ml




Sub questions

Question Number : 196 Question Id : 9983676616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIS T St ed I 3

Options:

Question Number : 197 Question Id : 9983676617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T 7Y 3

Options:

1.v 95
2. % T
3. * GgHI®
4. % €

Question Number : 198 Question Id : 9983676618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘redar ar e a3

Options:

1. = T9®
2. 9dT
3. = 3TEITUR
4, v TToth

Question Number : 199 Question Id : 9983676619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ui’ @r 3ref g1 8

Options:

1. % YUITelT
2. % &Il



3. v AW
4. * JILUTEr

Question Number : 200 Question Id : 9983676620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEITSr & AR TEadl I & TR § DI 9T HA Teld g7

Options:

1. * JTeIT=T & i Gl 3l

2. v T i THegih AT H g4 g3l
3. * LT YTshaT T TR S8 a1

4. % 3MTeATEHT &t B ULAdT ferhi&d g3l

Question Id : 9983676615 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension




sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

Hclg, JIT & qeuTe] Teder T HT IHETHA BT §1 S Frel 6l
ATH T&eer o WA MO #HedR 9dTE feaddl & a1 9T YgT|
feecT 3TelTelr & &7 & fegddl I # F5 Agcaqul Al 30
AT TS FA8T F GHTT gRTAT # Ovea g aifgey F &7
I5G eh qé’ﬂﬁ HT WA HIAT &1 TNTAT T TJg 71T @ear
AT & ST I HHE AT &1 3Telell HI Seclica gia
feg@adl Jar # BIi &1 SHRT W@ 0T 3MTelleiehl i Tell<el
HHST ol Silel & hROT g3T 3 GET AZCIYUT RO IE L&
fF RAT 3redar [Aeadrecy TSR ISl ATecT & folhe
AT 3T AT 9fohdT T dTege Tee 398 & URiT| 39 fgeal
H ey 1 fdeafea aaAar # gig g o=t o 3T fgedr &
AN AT oT o1l glet oelr o7 oFor arfged # FurR AT vgicd
faerf@a g W ofl T aqeaerd’ 3R fegadr i o
fe@adr Zor & streliga 1 oy Tafadr fasfad g8 foera
vz dfdeRTellel ST&ToT AT hr T A FHregmer fade,
JelellcAS Hedlohel, SR TUT Adle SATGgTRF TEiadl T
fahrer g3l

Sub questions

Question Number : 196 Question Id : 9983676616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEITeT T Seoled IIT &:

Options:

1. = Hliﬁr% ]

2.%%@3&?



3. * Fel T
2 2

4, = YHIG g4l

Question Number : 197 Question Id : 9983676617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 3T B
Options:

1. v 955
2. = 3T
3. ® HaRh
4. % o

Question Number : 198 Question Id : 9983676618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEIAT T AT &

1. % Zeleh
2. % ST
3. = 3TEITIHR
4., v 9TSh

Question Number : 199 Question Id : 9983676619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g T 3T AR &
Options:

1. % YOI
2. % &l

S.JH?I:WUT
4. = gROTer



Question Number : 200 Question 1d : 9983676620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eI & HTAR fe@ddy Jor & g H Fle AT Fefel aTercd &7

Options:

1. = 3MTelae $T gig g &

2. v e T HACATFT STHAT H g g3
3. » T qfshar & dfRaesr zee o«

4. = 3ol HT hy TEfAAT AT &




